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Question Number : 1 Question Id : 1908891492 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
The dimension of density 1s
1. ML T
2. ML"T]

. [ML?T9]
[MLT]

<

Options:

1908895901. 1
1908895902. 2
1908895903. 3

1908895904. 4

Question Number : 1 Question Id : 1908891492 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Uedca & forr @dr §9 8

1. [MLYT®]
2. [ML?T]
. [ML*T17]
[MLT]

5w

Options:
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1908895901. 1
1908895902. 2
1908895903. 3

1908895904. 4

Question Number : 2 Question Id : 1908891493 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The correct way to write the SI unit of aceeleration 1s

Ny s's
7
nmys”
)
nmy'sec
Ny sCC) 5€C

b

N

Options :

1908895905. 1
1908895906. 2
1908895907. 3

1908895908. 4

Question Number : 2 Question Id : 1908891493 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

TIT0T T @ T TWET SLAES FAT & 2

m's/s
.
m's
7
my'sec

nysec! 5¢C

| S

ol

Options :

1908895905. 1
1908895906. 2
1908895907. 3
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1908895908. 4

Question Number : 3 Question Id : 1908891494 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

G’i’\'ill two vectors
A=47-2f
B=2"+k

The sealar product A.B is

| S ]

L]
= fa Oh QO

i

Options :

19088959009. 1
1908895910. 2
1908895911. 3
1908895912. 4

Question Number : 3 Question Id : 1908891494 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

19088959009. 1
1908895910. 2
1908895911. 3

1908895912. 4

Question Number : 4 Question Id : 1908891495 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The velocity time graph of a point mass moving m +x direction 1s shown below. The acceleration
of a point mass 1s

Velocity 3 /:
(m/s) /
2l £

1

0.25 m/s’
0.4 m/s’
0.8 m's’
1.0 m's*

| R

e o

Options:
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1908895913. 1
1908895914. 2
1908895915. 3

1908895916. 4

Question Number : 4 Question Id : 1908891495 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

A9 T 1w 397 - W e A v g geaAe + xR A e 71 3w g
ST FT 0T ¢

Velocity 3 '

S ;
(m/s) " o

1

0.25 m/s”
0.4 m/s>
0.8 m/s’
1.0 m's?

b —

S

Options :

1908895913. 1
1908895914. 2
1908895915. 3

1908895916. 4

Question Number : 5 Question Id : 1908891496 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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A block of mass 4 kg 15 resting on a rough horizontal surface. Its given an impulse so that it
moves with mitial veloeity of 0.5 m/s. It comes to rest after traveling a distance of Sm. The work
done by the frictional force on the block .

0.1]
04]
053
0817

[

i

Options:

1908895917. 1
1908895918. 2
1908895919. 3

1908895920. 4

Question Number : 5 Question Id : 1908891496 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

T# 4 kg 3o & €2 T #fa T8 Wy s # T 8 56 gemma w
m%mm?ﬁlﬂ%aﬁmmaﬂﬁjms?mm?lﬁ
SCIA QAT (34T FaEd # H W SmFT U 7T I §1 @S W 0T T
IR foRT T F1Y -

0.1J
04]
3 051
4. 0.8]

[

Options:

1908895917. 1
1908895918. 2
1908895919. 3

1908895920. 4

Question Number : 6 Question Id : 1908891497 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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The value of acceleration due to gravity on the surface of a planet of radius of 0.5 times earth's
e A : :
radius 1s 0.8g (where g =10 m/s™). The mass of the planet 15 (Mg = Mass of Earth) equal to

0.1 Mg
0.2 Mg
0.4 Mg
Mg

et bk

L

Options:

1908895921. 1
1908895922. 2
1908895923. 3

1908895924. 4

Question Number : 6 Question Id : 1908891497 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

T 301 # A1 92 B % 0590 53 F 39 F 758 W T F
FIOT 0.8z (F&T g=10m/s") §| T FT FIAT (Mg = 23 F FeIAH) TAA £ -

0.1 Mg
0.2 Mg
0.4 Mg
]'VIE

ot

e s

Options:

1908895921. 1
1908895922. 2
1908895923. 3

1908895924. 4

Question Number : 7 Question Id : 1908891498 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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The value of acceleration due to gravity on the surface of a planet 1s : th that of earth. The

radius of the planet 15 = of earth's radius, What 1s the escape speed from the surface of the

planet. Given the escape speed from the surface of earth 1s Vekm/s

-
1
1. | —Ve
V18 °
[
2 f%vg
i
3 \J'—Ve
E
1
4. |~V
V10
Options :

1908895925. 1
1908895926. 2
1908895927. 3

1908895928. 4

Question Number : 7 Question Id : 1908891498 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

TECATHYU 0T 1 A U I8 W I # % 3t o g g F e g

ﬁiﬁnﬁr%ﬁm?iwﬂ??ﬁﬂwmd T FITE 1@ WA F T8 W

T Il FT A Vokm/'s §

| ] .
! |
& F

-
=

Options:
1908895925. 1
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1908895926. 2
1908895927. 3
1908895928. 4

Question Number : 8 Question Id : 1908891499 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A ball 1s spinning on a horizontal suface, about the vertical axis passing through its center. Its
angular velocity decreases from 2+ rad/s to » rad/s n 10 s. If the moment of mertia of the ball
; 3 . .

15 0.5 kg m", the torque acting on the ball 15

I

1. ——— Nm
100
m

d. ~ % Nm

3. —ENm
2

4 - Nm

Options:

19088959209. 1
1908895930. 2
1908895931. 3

1908895932. 4

Question Number : 8 Question Id : 1908891499 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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T I 9 &S T8 W FER H & IR W FEeg W TR WG L
SHFT FIUNT I 25 rads T TTHL » rad's; 10 TFUS | I §| 30X 7 F1 T3

FUT 0.5 kem'§ 9 3 FT T GO FATE 2
1. - : Nm
100
2 —% Nm
3 o Nm
20
4 __r_r_ Nm
Options :

1908895929. 1
1908895930. 2
1908895931. 3
1908895932. 4

Question Number : 9 Question Id : 1908891500 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Which one of the statements written below 1s NOT true for an 1sothermal process.

1. The temperature of the system 1s kept constant.

2. Inan isothermal process PV = constant. where P 1s the pressure and V the volume of the
gas,

3. There 1s no change in the internal energy of an 1deal gas.

4. Internal energy of an ideal gas changes in an isothermal process.

Options:

1908895933. 1
1908895934. 2
1908895935. 3

1908895936. 4

Question Number : 9 Question Id : 1908891500 Question Type : MCQ Option Shuffling : No Is
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Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

TH AT TFA F Ow G Fa9 & § 9 91 F99 T8 780 £ 2

1. o 71 avae Ty @ 3

). THSSHTT A HPV = constant, TZ T P AT F7 219, VAT F7 31797 £
. W AW F HENF F F FE AT 74 2

. e AW F MANF FA FASSHAT YFH § a5ar £l

-

el

o

Options:

1908895933. 1
1908895934. 2
1908895935. 3
1908895936. 4

Question Number : 10 Question Id : 1908891501 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

An ¢lectric heater supplies heat to a system at a rate of 100 W. If the system performs work at a
rate of 75 W. what is the rate of increase of internal energy?

25W
100 W
175 W
5W

| R

L

Options:

1908895937. 1
1908895938. 2
1908895939. 3

1908895940. 4

Question Number : 10 Question Id : 1908891501 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
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Correct Marks : 4 Wrong Marks : 1

T 9egd 8eX 0% 37 fa&rg F 100 W# §T § 3577 Jg 4l ¢l 3R g
F FE T I5WE| 79 HANF T & qed # g7 F40 g 2

25W
100 W
175 W
75 W

b —

N

Options:

1908895937. 1
1908895938. 2
1908895939. 3

1908895940. 4

Question Number : 11 Question Id : 1908891502 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Two similar closed containers contain the same amount of an 1deal gas at temperature of 27° C
and 127° C. The ratio of the average kinetic energy of the molecule in the two contamers 1s

23/123
34
1/4
12

b =

et

Options:

1908895941. 1
1908895942 2
1908895943. 3

1908895944. 4

Question Number : 11 Question Id : 1908891502 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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& WA ¢ U9 Us HSY 39 & 2 o9 - Heldl auAT 27 C 3T 127°C |
Hediase Fd 1 36 BT & gt ot & afcs Far &7 3 | g o

23/ 123
34
1/4
1/2

| S

=k

Options:

1908895941. 1
1908895942. 2
1908895943. 3
1908895944. 4

Question Number : 12 Question Id : 1908891503 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The ratio Cp/ Cv for monatomic gas 1s (Cp = molar specific heat at constant pressure, Cv =
molar specific heat at constant volume)

3

e Lo b2
2 L = =

Options :

1908895945. 1
1908895946. 2
1908895947. 3

1908895948. 4

Question Number : 12 Question Id : 1908891503 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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B
[ N e

Options:

1908895945. 1
1908895946. 2
1908895947. 3

1908895948. 4

Question Number : 13 Question Id : 1908891504 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A body oscillates with simple harmonic motion aceording to the equation [in ST units],

=l ms(Em‘ + g)

The displacement of the body at time t = 1.5 s is.

. =5m
2. =25m
3. -20m
4 —-10m
Options:

1908895949. 1
1908895950. 2
1908895951. 3

1908895952. 4

Question Number : 13 Question Id : 1908891504 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
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Correct Marks : 4 Wrong Marks : 1
% s e (SIgPRAH) - 5o Iz,ngasaagmmmwm
g i g1 U 1 R = 15 s T W R

I

l. -5m
2. =28m
3o = 2w
4 -10m
Options:

1908895949. 1
1908895950. 2
1908895951. 3

1908895952. 4

Question Number : 14 Question Id : 1908891505 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The speed of the sound at 0° C 1s nearly 330 m/ s, For a frequency of 200 Hz the wavelength 1s.

1.0m
1.5m
3. 165m
4, 1.75m

| R

Options :

1908895953. 1
1908895954. 2
1908895955. 3
1908895956. 4

Question Number : 14 Question Id : 1908891505 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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N 0°C WAt 9 330 mis §1 200 Hz H 3gfed % fow worded & gem

1.0m
15m
1.65m
1.75m

g =

Options:

1908895953. 1
1908895954. 2
1908895955. 3

1908895956. 4

Question Number : 15 Question Id : 1908891506 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

A pipe of length 11 cm is closed at one end. The first harmonic frequency of the pipe. in air at
0° C 1s (Velocity of sound at 0° C = 330 m/s)

1. 1200 Hz
2. 1000 Hz
3. 800 Hz
4. 750Hz
Options :
1908895957. 1
1908895958. 2
1908895959. 3

1908895960. 4

Question Number : 15 Question Id : 1908891506 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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TF U= (S0 74 1lem? 38 0F BT W a2 &1 0°C W 391 & 959 7 997
gTAfTe 3gfed F4T gl 2

(0°C 9T eafed T 397 =330 m's)

1200 Hz
1000 Hz
800 Hz
750 Hz

[

I

Options:

1908895957. 1
1908895958. 2
1908895959. 3
1908895960. 4

Question Number : 16 Question Id : 1908891507 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

' - " . . ) . . " '
A disc of radius 1m and moment of inertia 2 kg m 1s rolling on a horizontal surface. If the linear
velocity of the dise 1s 10 emy/s. what 1s its rotational kinetic energy?

0417
0.2]
0.17]
00117

e s e —

Options:

1908895961. 1
1908895962. 2
1908895963. 3

1908895964. 4

Question Number : 16 Question Id : 1908891507 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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3. 0.1]
4. 0.01J

b —

Options :

1908895961. 1
1908895962. 2
1908895963. 3

1908895964. 4

Question Number : 17 Question Id : 1908891508 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

For most liquids, which of the following statement is correct.

1. Viscosity and surface tension decrease with temperature.

2. Viscosity and surface tension inerease with temperature.

3. Viscosity decreases while surface tension increases with temperature.

4. Viscosity imnereases while surface tension decreases with temperature.
Options:

1908895965. 1
1908895966. 2
1908895967. 3

1908895968. 4

Question Number : 17 Question Id : 1908891508 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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d9AT F HIY AT Ul § 4% 53 dold T g
dI9HTA % | 9TAT 98T § F4( Y8 Jd uedm gl

[ -]

N F

Options:

1908895965. 1
1908895966. 2
1908895967. 3

1908895968. 4

Question Number : 18 Question Id : 1908891509 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Two equal and oppsite deforming forces are applied parallel to the cross sectional area of a
cylinder as shown in figure. 8 1s the angular displacement of the cylinder from the vertical. The
shearing strain 15 given by

siné
cosd
cot @
tand

oot B e o

Options:

19088959609. 1
1908895970. 2
1908895971. 3
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1908895972. 4

Question Number : 18 Question Id : 1908891509 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
& T AR Rudd 3w 99 0 d94 F 0 euRY P &9 W e v Ry
% HIER FRMQ 310 &| o F FNY FTATT FER F e g1 qo0 F ATRGUT
farptct & -

sin 6
cos &
cot &
tan &

N S

Options :

1908895969. 1
1908895970. 2
1908895971. 3
1908895972. 4

Question Number : 19 Question Id : 1908891510 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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At a depth of 1km in an ocean. the absolute pressure and the gauge pressure are respectively,
i | . i
(Patmosphere = 1.01 x 10° Pa. density of ocean water = 1.03 x 10° kg m’. g =10 m/s?)

1.01x 10’ Pa, 103x 10° Pa

104.01x 10’ Pa. 103x 10’ Pa
103 x 10° Pa. 104.01 x 10° Pa
1030.1x 10° Pa. 103 x 10’ Pa

b =

il

Options:

1908895973. 1
1908895974. 2
1908895975. 3

1908895976. 4

Question Number : 19 Question Id : 1908891510 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

HHE F 1k FT TS W WA € 3R IS a@ 740 giol

( Patmosphere = 1.01 x 10° Pa, HHAI STel T Tefed = 1.03x 10° kg/m’, g = 10 m/s?)

1.01x 10° Pa. 103 x 10’ Pa

104.01 x 10’ Pa, 103 x 10° Pa
103 x 10° Pa, 104.01 x 10° Pa
1030.1 x 10’ Pa, 103 x 10’ Pa

el el

Options:

1908895973. 1
1908895974. 2
1908895975. 3

1908895976. 4

Question Number : 20 Question Id : 1908891511 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Page - 22


https://link.testbook.com/bQQ2EkH1bpb
https://link.testbook.com/bQQ2EkH1bpb

N P> Google Play

A mass spring system 1s shown in the fig. If the spring constant of the spring 1s § N/m and mass
15 2 kg, the time period of small oseillation 1s,

T

]

i

[ oo

TS
15s
ls

25s

st bl

Options:

1908895977. 1
1908895978. 2
1908895979. 3

1908895980. 4

Question Number : 20 Question Id : 1908891511 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

T 37 - 0w s 9 & fmm 3 31 aeR o e s N 3R g2
ke§ 99 B Ao FT FHAT AT 20

TS
|
2s

25s

Options:
1908895977. 1
1908895978. 2

1908895979. 3
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1908895980. 4

Question Number : 21 Question Id : 1908891512 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The potential differences between two points A and B 1s 5 V. The energy required to move a
charge. q=1.6 x 10%°C is

C08x10"7

s
i /]
v
[a—
=
[—

Options:

1908895981. 1
1908895982. 2
1908895983. 3

1908895984. 4

Question Number : 21 Question Id : 1908891512 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

g g A3 B# oEa S VE| TF &Y q=16x107C F AT &7 & fow
fraet I Fr FFFFAT B 0

0.8x10"7
3x10%7
5x1077
8x 107

b =

i

Options:

1908895981. 1
1908895982. 2
1908895983. 3

1908895984. 4
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Question Number : 22 Question Id : 1908891513 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
A 1.2 pF capacitor i1s charged to 3 kV. The energy stored in the capacitor is
1. 5417
2. 363

1.87]
0917

B

Options:

1908895985. 1
1908895986. 2
1908895987. 3
1908895988. 4

Question Number : 22 Question Id : 1908891513 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

TF 12 uF F FE # 3kv 7 30 & mw #1290 y9w & gufs # afg
FAT foaaT g 2

541]
3.6]
3. 187
4. 097

b —

Options:

1908895985. 1
1908895986. 2
1908895987. 3

1908895988. 4

Question Number : 23 Question Id : 1908891514 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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A cell has emf of 2.2 V and its internal resistance 15 0.1 Q. What 1s the current in the circuit, if
the cell 1s connected across a resistance of 1 Q.

1A

15A
20A
25A

o

e D

Options :

1908895989. 1
1908895990. 2
1908895991. 3

1908895992. 4

Question Number : 23 Question Id : 1908891514 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

T O 1 emf22 VE AT 30T Ffa0e 0.1 Q81 9y & anr $r arr o
geft 3 BT 1 Q feRT & HrY SET E 0

1A

15A
20A
25A

o L 2 =

Options:

1908895989. 1
1908895990. 2
1908895991. 3

1908895992. 4

Question Number : 24 Question Id : 1908891515 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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An electric heater takes 2.5 A from 220 V line. The energy input 1s KW.h supplied to the heater
mlhis

1.OKW.h
1.1 KWh
3. 22KWh
4. 24KWh

|

Options:

1908895993. 1
1908895994, 2
1908895995. 3

1908895996. 4

Question Number : 24 Question Id : 1908891515 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

T ega f1eX TF 220V T URT F2.5 AF O o0 81 39 81T 1 29¢ F¥ 716
FaTar & el F A (KWh) sraegear g

1L.OKW.h
1.1KWh
22KWh
24KWh

b —

S

Options:

1908895993. 1
1908895994. 2
1908895995. 3

1908895996. 4

Question Number : 25 Question Id : 1908891516 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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In the circuit shown in figure, applving the loop rule to the loop abca gives,

12V 3 g\

RN S—
=1

1. -12+7-413=0

2. 12+7;-41;=0

3. -12-T; +413=0

4. -12+T7L +413=0
Options:

1908895997. 1
1908895998. 2
1908895999. 3

1908896000. 4

Question Number : 25 Question Id : 1908891516 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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A AT a1 IRYY H abea 9 A @RI U F AT grm

1. -12+7L1-413=0
2. 12+7T;-453=0

3. -12-TI; +413=0
4. -12+T +413=0

Options:

1908895997. 1
1908895998. 2
1908895999. 3

1908896000. 4

Question Number : 26 Question Id : 1908891517 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

A proton enters a magnetic field of 1.5 T with velocity of 2 x 10" m/s at an angle of 30° with the
field. The force on the proton is (e = 1.6 x 10 C)

24x10x 10°N
24x 10N
24x 10N
24x 102N

e Lo b

Options :
1908896001. 1
1908896002. 2
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1908896003. 3

1908896004. 4

Question Number : 26 Question Id : 1908891517 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

T e T% 1.5 TH TFaoid 87 H2x 10 ws ¥ 371 § IoRar § Fwa fs Fonser
g1 30 3EE A 9 F FW T A | (e=16x1070)

24x10x10°N
24x 10°N
24x 101N
24x 102N

e e s =

Options:

1908896001. 1
1908896002. 2
1908896003. 3
1908896004. 4

Question Number : 27 Question Id : 1908891518 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Two long parallel wires are 4em apart and carry currents of 2 A and 6 A in the same direction.
What 1s the force between the wires per meter of wire length?

4x l{}'? N/m
6x10° N/'m
6x 10° N/m
6x10™ N/m

ol

Ll e

Options:

1908896005. 1
1908896006. 2
1908896007. 3

1908896008. 4
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Question Number : 27 Question Id : 1908891518 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Ej'mmm?ﬁﬁ;W@T@'4c1nﬁ{ﬂW?$mﬁ?ﬂﬁﬁlﬁ3ﬂT
CAUTT HT AT TEIEd 2T B 8| aR e s ufeftcr ai s e sa a8 »

4x10° N/m
6x 107 N/m
6x 10° N/m
6x 10" N/m

g —

e

Options:

1908896005. 1
1908896006. 2
1908896007. 3

1908896008. 4

Question Number : 28 Question Id : 1908891519 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

0 ;) C C . - "
A coil of area 100 cm” 15 held perpendicular to a magnetic field B=0.2 T. It 1s rotated by an
angle 90° to make 1t parallel to the field in 2 s. What 1s the emf produced m the coil?

0.1x107V
02x10%V
0.1x10tV
02x10°V

R

Options:

19088960009. 1
1908896010. 2
1908896011. 3

1908896012. 4

Question Number : 28 Question Id : 1908891519 Question Type : MCQ Option Shuffling : No Is
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Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

T e [T ST6A 100 e’ §: T T AT BB =02 TR o#4ad gl 3R
TE90°F FIOT T GO T FIol H T 2 s H Fam 8,79 oot & ___ foeanr
emf Icdeed f-ﬂ?'l'l'l

0.1x107V
02x107V
0.1x107V
02x10°V

o —

kel

Options:

19088960009. 1
1908896010. 2
1908896011. 3

1908896012. 4

Question Number : 29 Question Id : 1908891520 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

An ac voltage V 1s applied across an impedance. that gives rise to a current I. The angle between
VandIis 8 . The power loss 15

VIcos &
VIsinég
Vlcosd
VIsin 8

e s b

Options:

1908896013. 1
1908896014. 2
1908896015. 3

1908896016. 4

Question Number : 29 Question Id : 1908891520 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
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Correct Marks : 4 Wrong Marks : 1

U% U.H. Sece V. UF Yidann 9T o9 197 § 3 F 0F 19 39 T 2
VHT 15 99 # o F1 F07 §| 57 FTEAT & ofF a7 F; A ey gm0

1. VIcosd
2. VIsmné
3. Vlcosé
4. Vlsmé

Options:

1908896013. 1
1908896014. 2
1908896015. 3

1908896016. 4

Question Number : 30 Question Id : 1908891521 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A 100V, 50 Hz ac voltage source 1s applied across 2 uF capacitor. The current in the circuit is.

42 mA

62.8 mA
200 mA
300 mA

e L B

Options :

1908896017. 1
1908896018. 2
1908896019. 3

1908896020. 4

Question Number : 30 Question Id : 1908891521 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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T 100V. 50 Hz 1 THT. ees 2 uF BUNT T g+ (641 A1 81 30 79T #
T T AT BRI

42 mA
62.8 mA
200 mA
300 mA

|

Options:

1908896017. 1
1908896018. 2
1908896019. 3

1908896020. 4

Question Number : 31 Question Id : 1908891522 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A step-down transformer operates on 2 k V line. The ratio of the primary winding to the
secondary winding 1s 20 : 1. Assuming 100% efficiency. the secondary voltage Vi 1s -

100V
110V
200V
250V

o b —

Options:

1908896021. 1
1908896022. 2
1908896023. 3

1908896024. 4

Question Number : 31 Question Id : 1908891522 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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T 3w iad JRGAT 2k VN T T 8 F 81 T W TS Fosed iR
TIAAIT FEoI FT 3 20 : 1 E1 AR 3 100% ZeFer & W9 F17 730 51 € o
E{ﬁ?ﬁ'ﬂ qecd ng ;

100V
110V
200V
250V

s L D

Options:

1908896021. 1
1908896022. 2
1908896023. 3

1908896024. 4

Question Number : 32 Question Id : 1908891523 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The glass prism shown in the figure has an index of refraction of 1.5. The angle of refraction. r is

-

sin™(0.75)
sin”(0.6)
sin”*(0.5)

sin™(0.25)

4= LR ]

Options:
1908896025. 1

1908896026. 2
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1908896027. 3

1908896028. 4

Question Number : 32 Question Id : 1908891523 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

T &9 # oA (S 6 R & gt mn §) # AvEes gueis 15 s
anéa'a#m'rghn

o

1. sin *0.75)

| ]

sin (0.6}
3. sin "H0.5)
4, sin '0.95)
Options:
1908896025. 1
1908896026. 2
1908896027. 3

1908896028. 4

Question Number : 33 Question Id : 1908891524 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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The radui of curvature of the faces of a double convex lens are 10 em and 15 em. Its focal length
15 12 cm. What 1s the refractive index of the material of the lens?

1.2
1.5
1.6
1.8

b =

[N S ]

Options :

1908896029. 1
1908896030. 2
1908896031. 3

1908896032. 4

Question Number : 33 Question Id : 1908891524 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

T% 218 3eae o [l 3% (3587 10em 3T 15 em | oFF F FFF T 12 cm 7
g1 oW F HUETAT TEwE T E 0

1.2
1.5
1.6
1.8

e D D e

Options:

1908896029. 1
1908896030. 2
1908896031. 3
1908896032. 4

Question Number : 34 Question Id : 1908891525 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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A telescope should be made of a objective lens which has

1. smaller focal length and smaller aperture than the eyepiece
2. larger focal length and smaller aperture than the evepiece

LS

smaller focal length and larger aperture than the evepiece
4. larger focal length and larger aperture than the eyepiece
Options:

1908896033. 1
1908896034. 2
1908896035. 3
1908896036. 4

Question Number : 34 Question Id : 1908891525 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

U= &oﬂ%ﬁqﬂﬁaﬁ'{%wﬂ?mmﬁmgﬁmaﬁﬁ:

1. FF BIha g AT FH ATIH ZaF
2. ST HFA g 3R FA ATF GaRH
3. FH Bk g AR ARG ATFT @31+
4. ST ®Iel 24 AT ST1ET ATIFT aRF

Options:

1908896033. 1
1908896034. 2
1908896035. 3
1908896036. 4

Question Number : 35 Question Id : 1908891526 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Two 1dentical polaroid sheets are held perpendicular to an unpolarized light beam. If I, is the
mtensity of the beam between the two polaroids and I. the mtensity of the emergent beam (see
figure). then the intensity ratio 1s 11, = 1/2

The angle between the pass axes of the two polaroids 1s,

Polaroid
"\\
P
1 2

L 3
v

90°
60°
45°
30°

b =

L o

Options:

1908896037. 1
1908896038. 2
1908896039. 3
1908896040. 4

Question Number : 35 Question Id : 1908891526 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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& WA T % GoNIgE T UF HAuloNgs Fhe F dFad @ U

R L, 9Ieniss & faseur Ot (i) 1 diar € 13180 fasrere arelt fosun g
e &, (o & R & qutar 7 1) 99 e # S UL = 12 8] T eiss
FT TR el 3187 FT FHI0T F1 ZAM 2

Polaroid

A X
1 2

w
w

90°
60°
45°
30°

e =

N ]

Options:

1908896037. 1
1908896038. 2
1908896039. 3

1908896040. 4

Question Number : 36 Question Id : 1908891527 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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The variation of stopping potential (V) with frequency (v ) for a photosensitive material 1s
correctly shown in

v
2. Vs
>y
3. v,
¥
4, v, .-’fl \
/ &
',

Options :

1908896041. 1
1908896042. 2
1908896043. 3
1908896044. 4

Question Number : 36 Question Id : 1908891527 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Page - 41


https://link.testbook.com/bQQ2EkH1bpb
https://link.testbook.com/bQQ2EkH1bpb

N P> Google Play

Correct Marks : 4 Wrong Marks : 1

A o o Rt 3 o e B3 verd (v # fadedt v 1 oftadw amfes
F @ g R s e mw i

I Vs Y

Options:

1908896041. 1
1908896042. 2
1908896043. 3

1908896044. 4

Question Number : 37 Question Id : 1908891528 Question Type : MCQ Option Shuffling : No Is
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Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The de Broglic wavelength of an electron that has been accelerated by a potential difference V
volt 15 0.12 nm. The potential difference is nearly.

10V
20V
50V
100V

ot b

e

Options:

1908896045. 1
1908896046. 2
1908896047. 3

1908896048. 4

Question Number : 37 Question Id : 1908891528 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

T oA $1 & Fioe e 012 amd| T oA UF Vake F a9 @
g T 31 @7 1 W 3R 7 Tl F AT 3w 7w g

10V
20V
50V
100V

e e s =

Options:

1908896045. 1
1908896046. 2
1908896047. 3

1908896048. 4

Question Number : 38 Question Id : 1908891529 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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In an experiment of a-particle scattering b;,-' gold - foil (Geiger- Marsdon experiment), the
. . . 12 . . .

a-particles have kinetic energy = 1.2 x 107" ], What 1s the approximate distance of closest

approach of the & - particles to the gold nuclu? (Z,3=79)

3x 1{}'1'“‘l m
3x108m
3x100%m
3x 1{}'11 m

R

Options:

1908896049. 1
1908896050. 2
1908896051. 3
1908896052. 4

Question Number : 38 Question Id : 1908891529 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

UF o - FU F THUF 5397 &, G & EFTET*[ (Geiger- Marsdon W?T} Taer FF FE gl
T Wo-F A AR FaAl12x 10778 T T O F 7ZF0GE Fo-F7 H
~IATH g1 Tohe 9 (Zs=79)

3x10%m
ix 10'13111
ix lﬂ'um
ix 10'” m

[ N R

Options:

1908896049. 1
1908896050. 2
1908896051. 3

1908896052. 4

Question Number : 39 Question Id : 1908891530 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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The radius of the innermost electron orbit in hydrogen atom is 5.3 x 10 m. What is the radius
of the third orbit ?

11.3x10Mm
120510 m
150x 10" m
C477x10Mm

[

)

Options:

1908896053. 1
1908896054. 2
1908896055. 3

1908896056. 4

Question Number : 39 Question Id : 1908891530 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

TS ¥ HAUaR F H ewssx 10 m ¥l sud S w7 Fr e
grft 2

113x10Mm
120x10Mm
15.0x 100 m
47.7x10Mm

I o B o R

Options:

1908896053. 1
1908896054. 2
1908896055. 3

1908896056. 4

Question Number : 40 Question Id : 1908891531 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Which one of the following statements 1s NOT true about nuclear forces?

1. Nuclear force between two nucleous falls rapidly to zero as their distance increases more
than few femtometres

The nuclear force 1s much stronger than coulomb force

Nuclear force between two nucleous s repulsive for distances larger than 0.8 fm
Nuclear force between neutron - neutron, proton - neutron and proton - proton are
approximately the same

[

[ S ]

Options:

1908896057. 1
1908896058. 2
1908896059. 3
1908896060. 4

Question Number : 40 Question Id : 1908891531 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

AT Fol F T FeEld # ¥ Fiaar a7 T 74 £ 0

L. g~ & 99 § AT 99 =7 A9 999 § g §| 3R 39F 99
# ¢ $T HAAIT § FA &

). AN T, FollA ao & ST A A 2

3. & gfFedi & @ A AT qo Jiahul gl €1 3N 3 i Hr gl
08fmg

4. A - A, Tl - =8 AT - el F 8 & FAAHT I Fia
FT TF S8 2T 8

Options:

1908896057. 1
1908896058. 2
1908896059. 3

1908896060. 4

Question Number : 41 Question Id : 1908891532 Question Type : MCQ Option Shuffling : No Is
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Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

For the fission reaction

1 235 236 144 B9 gr . ]
ot + “gou =2 “gou = + " Ba+  Ar+neutrons

the number of neutrons produced 1s

1. 1
B: 3
4. 4
Options :

1908896061. 1
1908896062. 2
1908896063. 3
1908896064. 4

Question Number : 41 Question Id : 1908891532 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

fra=a yafFars T

1, . 235, _. 236 184 89, e e Lo :
ot TaU = o 2+ seBat 3K+ =IC et et i T feaeh gt 2

b

b
da s bD —

Options:

1908896061. 1
1908896062. 2
1908896063. 3
1908896064. 4
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Question Number : 42 Question Id : 1908891533 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Find the density of methane (molar mass 16 g) in a cylinder. at 27° C and pressure 600 kPa.
(R=8.3 Imol'k™)

3.8x10° kg 11113
3.8x 10°kg/m’
3.8x10'kg m’
3.8 kg/m’

Fod

e

Options:

1908896065. 1
1908896066. 2
1908896067. 3

1908896068. 4

Question Number : 42 Question Id : 1908891533 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
T+ erst # ot 5 Y I 1 aacd 4w gem 0

(AT 7 = 16 g. dT9HATA 27° C AT I 600 kPa) (R =8.3 Tmol'k?)

3.8x 10° kg 111':‘
3.8x10° ke m’
3.8x 10 kgm’
3.8 kg m’

b

i

Options:

1908896065. 1
1908896066. 2
1908896067. 3

1908896068. 4
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Question Number : 43 Question Id : 1908891534 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The dopant that can be used to produce p.type semiconductor 1s

1. Arsenic

2. Aluminium
Antimony
Phosphorus

B

Options :

1908896069. 1
1908896070. 2
1908896071. 3

1908896072. 4

Question Number : 43 Question Id : 1908891534 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
p.dEF FI=eaw F T FlF @1 = w7 Frar FJm@e

1. Arsenic (3THEF)
2. Aluminium (Teg AT

3. Antimony (TSIHAT)
4. Phosphorus (FIERITH)

Options:

1908896069. 1
1908896070. 2
1908896071. 3

1908896072. 4

Question Number : 44 Question Id : 1908891535 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
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Correct Marks : 4 Wrong Marks : 1

Which one of the following devices is used in voltage regulator?

1. Zener diode

2. Solar cell
Photodiode

Light emitting diode

F = ]

Options:

1908896073. 1
1908896074. 2
1908896075. 3
1908896076. 4

Question Number : 44 Question Id : 1908891535 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
TFo@d § ¥ Fia9r 37 diece FI@TaT & a7 # o Jar 8 0

1. JX S
2. T O
BIIEAE
4. YFIA 3cHSF A

!

Fad

Options:

1908896073. 1
1908896074. 2
1908896075. 3

1908896076. 4

Question Number : 45 Question Id : 1908891536 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Ozone layer protects us from

. ultraviolet rays from the sun

| S

infrared rays from the sun
X-rays from the sun

B

Y-rays from the sun

Options:

1908896077. 1
1908896078. 2
1908896079. 3

1908896080. 4

Question Number : 45 Question Id : 1908891536 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

NS ura gardt fsad Jgan =3t 282

1. 7 B M arelt areETaTade st A
2. 3 A 3 areht SwBRE Rszol A

3. 3 ¥ 3t areht x-faszoit A

4. TF A 3 areh v-Rezoi A

Options:

1908896077. 1
1908896078. 2
1908896079. 3

1908896080. 4

Question Number : 46 Question Id : 1908891537 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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A plane electromagnetic wave travels m free space along the x direction. At a particular point
vector B is2x10® kT. What is the vector E at this point?

1. 6}\-’111
z lj\-"m
3. 6iVim
6 kV/m

=

Options:

1908896081. 1
1908896082. 2
1908896083. 3

1908896084. 4

Question Number : 46 Question Id : 1908891537 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

% WRAS (9eqd - TFad a0 x - G & 4% 1 4 AoA £ 0 fAte fegw
B=2x10" kT Tg W E @feyr gnm :

: 6;\-’111
2 .’j\-"m
3. 6iVim
6 kV/m

al

Options :

1908896081. 1
1908896082. 2
1908896083. 3

1908896084. 4

Question Number : 47 Question Id : 1908891538 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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A series LRC circuit 1s connected to a ac source. Given L =35 H, C =80 uF and R =40 Q. What
the source frequency which drives the circuit in resonance?

1. 25/m Hz
2. 50/m Hz
3. 100/m Hz
4. 200/m Hz

Options:

1908896085. 1
1908896086. 2
1908896087. 3
1908896088. 4

Question Number : 47 Question Id : 1908891538 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

W LRCURWY O AL W F 1 83 &1 T W L=5H,C=30F H R=400

¢ Tg W W T MGied 7T g 2

. 25/m Hz
. 50/m Hz
. 100/m Hz
. 200/m Hz

e L] | ] —_

Options :

1908896085. 1
1908896086. 2
1908896087. 3
1908896088. 4

Question Number : 48 Question Id : 1908891539 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Two capacitors of capacitances 2 pF and 3 pF are connected in parallel and connected to 100 V
supply. The charge stored 1

5pC
500 pC
5000 pC
50 pC

b —

e Laa

Options :

1908896089. 1
1908896090. 2
1908896091. 3

1908896092. 4

Question Number : 48 Question Id : 1908891539 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

o WeTi Fowr @it 2 pF 3R 3 pF §1 98 WA, 100V 3fd F T 8 g0
#| TUTEd Y AT AT

5pC
500 pC
5000 pC
50 pC

b

e e

Options:

1908896089. 1
1908896090. 2
1908896091. 3

1908896092. 4

Question Number : 49 Question Id : 1908891540 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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A horizontal pipe 1s shown in the figure. The velocity of water at the point A and the point B are
20 em/s and 30 env/s respectively. The pressure difference between the point A and point B 1s
(density of water = 1000 kg/m”)

T - N
—3 Ao "
1. 50Pa
2. 40Pa
3. 25Pa
4. 0.5Pa
Options:

1908896093. 1
1908896094. 2
1908896095. 3
1908896096. 4

Question Number : 49 Question Id : 1908891540 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

ﬁaﬁﬁéﬁama@mwﬁlmmw.awmcmsm BT 30 cov's g1
aET ¥ g AR BF 99 & g A e g

(TET Tl &7 Tefcd = 1000 kg'm’)

50 Pa
. 40 Pa
25Pa
0.5 Pa

T e e R

Options:
1908896093. 1
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1908896094. 2
1908896095. 3
1908896096. 4

Question Number : 50 Question Id : 1908891541 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

In the equation J = oE

J is current density. E the electric field. The constant & is

mobility

[ S I =

resistivity

3. resistance

4. conductivity
Options :
1908896097. 1
1908896098. 2
1908896099. 3
1908896100. 4

Question Number : 50 Question Id : 1908891541 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Page - 56


https://link.testbook.com/bQQ2EkH1bpb
https://link.testbook.com/bQQ2EkH1bpb

A= feT T g

J=cE R

&l 7 =URT H Uelcd. £ = [dggag &7 | f&adai+w &

. Frferefrerar
ST rershar
gfarer
CICETH)

[—

[ B

U U]

Options :

1908896097. 1
1908896098. 2
1908896099. 3
1908896100. 4

Part B Chemistry

Section Id :

Section Number :

Section type :

Mandatory or Optional :

Number of Questions :

Number of Questions to be attempted :
Section Marks :

Enable Mark as Answered Mark for Review and

Clear Response:
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

19088943
2

Online
Mandatory
50

50

200

Yes

1
19088969

Yes

P

GETITON

Google Play
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Question Number : 51 Question Id : 1908891542 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: Natural rubbers shows high water absorption capacity.

Statement II: 5% of sulphur 1s used as a cross-linking agent in the manufacture of tyre.
In light of the above statements, choose the correct answer from the options given below:

Both Statement I and Statement IT are true
Both Statement I and Statement IT are false

Fd

3. Statement I 1s true but Statement IT 1s false
4. Statement I 1s false but Statement IT 1s true
Options:

1908896101. 1
1908896102. 2
1908896103. 3

1908896104. 4

Question Number : 51 Question Id : 1908891542 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Jrar FuF Rraw

FUF - 1. THTaF a1 399 70 HIUG FAHA G519 P &

FUT - 11 5% TEBT T ITAT TAT F AT F Fo-ofFT e § 79 7 5
T 2

3T FUA F HAF H Aol Gt # F FEN 3ol G

. AT 1R e wg
2. FAF 13T 03 T £
. U 1WE ¢ g Fue a2
FUA 1770 ¢. o] FueT 1 HE 8

[

-

=
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Options :

1908896101. 1
1908896102. 2
1908896103. 3

1908896104. 4

Question Number : 52 Question Id : 1908891543 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
Codeine comes under the category of:
1. Non-narcotic analgesics
2. Narcotic analgesics

Antibiotics
Disinfectants

o

Options:

1908896105. 1
1908896106. 2
1908896107. 3
1908896108. 4

Question Number : 52 Question Id : 1908891543 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Frare _ Aofr 7 37T 8

1. 37Ea9E YrSEnr
T e
P IGEICED

4. TaaserHY

| ]

L)

Options :

1908896105. 1
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1908896106. 2
1908896107. 3
1908896108. 4

Question Number : 53 Question Id : 1908891544 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Consider the following reaction sequence:

CH,;Magl Acidic Hydrolysis
chc)@c;m : - A YHOSR.B
CH;CH,OCH,CH4

The structure of B 1s:

NMgl
cha—{i::>—4{
CH1
NCH3
HaC D@—Q
H

= 9
HaCO—h,  »—4
i \

[ ]

3

\ )
Ya
NHCH:

Options:

19088961009. 1
1908896110. 2
1908896111.3
1908896112. 4

Question Number : 53 Question Id : 1908891544 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
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Correct Marks : 4 Wrong Marks : 1

frrfefaa sf#fRa s &

CHaMgl i
HECD—Q—CEN avid - Acidic Hydrolysis . B
CH43CH,OCH,CH4

B & G §
= NMal
cho—4<::>~—(
\_7 CHs
NCH;
H
0
cho——<C::>——{
CHs
D
i:j NHCH3

Options:

19088961009. 1
1908896110. 2
1908896111.3

1908896112. 4

Question Number : 54 Question Id : 1908891545 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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The structure of semicarbazone of ethylmethyl ketone 1s:

| ]
Q

H
Dl
O
3
N NN
, N—N—Q—NH;J_
O
4.
Options:

1908896113. 1
1908896114. 2
1908896115. 3
1908896116. 4

Question Number : 54 Question Id : 1908891545 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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RITARS Fel & JAFEET Frawar ¢

H
:>:N ~N-G—NH
O

L.
fr‘-J—E‘T—NHg
Z. O
H
Dnegn
|
O
3.
H
N—N—%—NH;
O
4.
Options :

1908896113. 1
1908896114. 2
1908896115. 3
1908896116. 4

Question Number : 55 Question Id : 1908891546 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The formula of yellow colored compound formed in the reaction of 2-propanone with sodium
hypotodite 1s:

1. I
0

|
H,C - C-CI;
CHal;
CHI;

S T

Options :
1908896117. 1
1908896118. 2

1908896119. 3
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1908896120. 4

Question Number : 55 Question Id : 1908891546 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

FIETR FEAHTAEEE F T1Y 2 - AT Fr FATFI ¥ 9397 Jrerder T
FURFTITE

l. L
0

|
2. H,C-C-CIL,
3. CH:»
4. CHIs

Options:

1908896117. 1
1908896118. 2
1908896119. 3

1908896120. 4

Question Number : 56 Question Id : 1908891547 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

How many moles of hydrogen (g) are obtained on hydrolysis of two moles of sodium acetate to
get ethanol?

1. One

2. Zero

3. Two

4, Three
Options:
1908896121. 1
1908896122. 2
1908896123. 3

1908896124. 4
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Question Number : 56 Question Id : 1908891547 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

WA gTed A F o Aiftgw e § o A9 F 99 vufed e W e
HIeT EI3EIo () & o 8 &7

1. T&F
2. AT
39
3. ar
4, de

Options:

1908896121. 1
1908896122. 2
1908896123. 3

1908896124. 4

Question Number : 57 Question Id : 1908891548 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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For the given reaction:

CHa CHs
c c
L H2 Mo, 05
| | — - A
HQC CH 773K, 10-20 atm
\\C"d'/ \\‘CH3
Ho

What is ‘A°?

o-Xylene
Benzene
Toluene
m-Xylene

b

e

Options:

1908896125. 1
1908896126. 2
1908896127.3

1908896128. 4

Question Number : 57 Question Id : 1908891548 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Moy 03
I - A

HoC CH 773K, 10-20 atm

!

faa
%’f

4. m-STSolleT

Options:

1908896125. 1
1908896126. 2
1908896127.3
1908896128. 4

Question Number : 58 Question Id : 1908891549 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

For the heterolytic cleavage of the given reaction:

CHyCH)Cu ——— = AandB
‘A’ and ‘B’ are respectively:

‘CH,CH; and Cu
*CH,CHs and Cu

"CH,CHz and 'Cu
"Cu and Cu

L R

i

Options:

Page - 67


https://link.testbook.com/bQQ2EkH1bpb
https://link.testbook.com/bQQ2EkH1bpb

N P> Google Play

1908896129. 1
1908896130. 2
1908896131. 3

1908896132. 4

Question Number : 58 Question Id : 1908891549 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

&r 8 AR A AT A & :
CH,CH,Cu ——  AandB
A" B'EAd § LA AR B FAM: §

1. "CHyCH:; 3R "Cu

"CH,CH; 3 Cu

"CH,CH; 3T "Cu
4. TCu Bﬁ'{ Cu

| ]

g

Options:

1908896129. 1
1908896130. 2
1908896131. 3
1908896132. 4

Question Number : 59 Question Id : 1908891550 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Select the correct option for the structure of 2-Bromo-4-methyl anisole:

[ ]

OCHs4
CHsj
NH»
i Br
CH3

CHj

=N Br
o

OCHa

Options:

1908896133. 1
1908896134. 2
1908896135. 3

1908896136. 4

Question Number : 59 Question Id : 1908891550 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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2§ - 4 - AR TS dF @ & AT #@E Ao T ¢

OCH,

s Br

P

CHa

[ -]
P!
= 3

]

NH>

5

,  OCHj

Options :

1908896133. 1
1908896134. 2
1908896135. 3

1908896136. 4

Question Number : 60 Question Id : 1908891551 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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The common bases in DNA and RNA are:

Adenine. Guanine. Uracil
Cytosine, Thymine, Guanine
Cytosine, Thymine, Uracil
Adenine. Guanine, Cytosine

LR S ]

e

Options:

1908896137. 1
1908896138. 2
1908896139. 3

1908896140. 4

Question Number : 60 Question Id : 1908891551 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

&+ AT [ DNA TS RNAGHAT H Foa &

(==

Bow

Options :

1908896137. 1
1908896138. 2
1908896139. 3
1908896140. 4

Question Number : 61 Question Id : 1908891552 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Given below are two statements. one 15 labelled as Assertion A and the other 15 labelled as
Reason R

Assertion A: A reaction of 2-bromo-2-methyl propane with sodium methoxide gives 2-
methylpropene.

Reason R: Alkoxides are nucleophiles.

In light of the above statements, choose the meost appropriate answer from the options given
below

Both A and R are correct and R 15 the correct explanation of A
Both A and R are correct but R 1s NOT the correct explanation of A
A is correct but R 15 not correct

o A o R

A 15 not correct but R 1s correct

Options:

1908896141. 1
1908896142. 2
1908896143. 3

1908896144. 4

Question Number : 61 Question Id : 1908891552 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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A g FYF QU AT E - OF F HEEYT (A) #R ZE FOFROT (R) FET AT 2

HEFIT (A):2-TA - 2 - *fdewna & wfHafFo aftaw duss: ¢ F19 W 2-
Hierergrde e &

FIT (R) : ToHIFHIES ATHF T2l 21 £
IYFT FUA F A § At Eed § ¥ ' 5o W=

[

- (&) 3R ®) 3 T € R R). (A) P T I g

(4) #R (R) 31 W & Weg (R). (A) T WET e AR
- (AT E WA (R) T A 2

(AT T E R (R)FE L

[ ]

L )

e

Options:

1908896141. 1
1908896142. 2
1908896143. 3

1908896144. 4

Question Number : 62 Question Id : 1908891553 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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\

Which of the following compounds are aromatic alcohol?

OH
A. i

CH-OH

C
O

CH,OH

b

CH»OH

H
C
_‘_,r"'"
E.

Choose the correct answer from the options given below:

1. A.C andE only

2. B.C and E only

3. Dand E only

4. E only
Options:

1908896145. 1
1908896146. 2
1908896147. 3

1908896148. 4
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Question Number : 62 Question Id : 1908891553 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
rrfaraa JifFer 1 & sia ar I &Aes toweia § 2

OH
A i

CH20H
B. f

OH
=

CH,OH
D. Cl

CH>2OH

& e T @esedl A | HEr 3ca] e

Faad A Cc3HT E
Fad B.C 3T E
Fao D3I E
&Fad E

b -

b

Options:
1908896145. 1

1908896146. 2
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1908896147. 3

1908896148. 4

Question Number : 63 Question Id : 1908891554 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Which of the following compounds would undergo SN;j reaction slower?

CH,CI

C
CHs

-

faa

Options :

1908896149. 1
1908896150. 2
1908896151. 3

1908896152. 4

Question Number : 63 Question Id : 1908891554 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Aataf@a & @ a9 ar 3 sy 3R o af @ e 2

CH,CI

Cf I CH,

CH,CI

C

CH,CI

[ ]

4.

Options:

1908896149. 1
1908896150. 2
1908896151. 3
1908896152. 4

Question Number : 64 Question Id : 1908891555 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Synthesis of alkyl fluoride cannot be accomplished n good yield by heating alkyl chloride i the
presence of:

Hob
CoF
3. BF;

4. SbF;

bed bk

Options:
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1908896153. 1
1908896154. 2
1908896155. 3

1908896156. 4

Question Number : 64 Question Id : 1908891555 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Ufedha FaNEe # frEdr 39ftafa & T8 T 3=0T A & ofosd wenEE A
TS FET FRAT I HRAT &

HgF»
CoF>
BF;
SbF;

b —

g

Options:

1908896153. 1
1908896154. 2
1908896155. 3

1908896156. 4

Question Number : 65 Question Id : 1908891556 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Select the incorrect statement:

1. Effect of particulate pollutants are largely dependent on particle size

2. Particulate pollutants having particle size of more than 5 micron are likely to lodge mn
nasal passage

3. Particulate pollutants are the minute solid particles or liquid droplets in air

4. Particulate matter bigger than 5 micron may enter nto lungs casily

Options:
1908896157. 1
1908896158. 2
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1908896159. 3

1908896160. 4

Question Number : 65 Question Id : 1908891556 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
HET FY9 F @0

1. U Y 1 THE FEITAT 304 FOT F HFR T H3 FT £
2. SHAEHA ¥ T3 F0F GTF ANGFCaR & FA & TS

3. HOF werd I # fAdfed qeR 3F FO7 3T g7 42 A 2

4. STEHA § 93 FH0% YeTF FUT FFe F FWET § G990 F T 2

Options:

1908896157. 1
1908896158. 2
1908896159. 3

1908896160. 4

Question Number : 66 Question Id : 1908891557 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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The correct structure of N.N-Dimethylbenzenanmune 1s:

@—CH oN(CH3)p
QN HCH;

NHCH;

()

1908896161. 1

-.-l

Laa

Options:

1908896162. 2
1908896163. 3

1908896164. 4

Question Number : 66 Question Id : 1908891557 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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N.N - SEAfITa=aavHA $T Ta I=aT £

H3C NH»
L CHj3
QCHQN{CH3}2
NHCH;
3 NHCH;
£
4

Options:

1908896161. 1
1908896162. 2
1908896163. 3

1908896164. 4

Question Number : 67 Question Id : 1908891558 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The FALSE statement about primary amines is:

They react with alkaline CHCl; on heating to form carbylamines

They can be distinguished from tertiary amines on the basis of Hinsberg's test
They are incapable to form salts with acids

They can be prepared by reduction of nitrobenzene with metals m acidic medium

N o

Options :

1908896165. 1
1908896166. 2
1908896167. 3
1908896168. 4
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Question Number : 67 Question Id : 1908891558 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

TATAF VAR F T 3ET FUA

1. ¥ ST CHCL F T T8 Fd W Flaavi = a1 2|

. fomuwt oo F R W = T e @ il fear o s g
. ¥ 3 F WY FE I H HEAd A

. 3¢ ¥FIIT ATA F O F WY A F AT &N 7 S
TFT £

e Faa [

Options:

1908896165. 1
1908896166. 2
1908896167. 3

1908896168. 4

Question Number : 68 Question Id : 1908891559 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two statements

Statement I: Compounds of W(VI) are found more stable than Cr(VI).

Statement II: WO; 1s a stronger oxidizing agent than dichromate in acidic medum.

In light of the above statements. choose the most appropriate answer from the options given
below

Both Statement I and Statement II are correct
Both Statement I and Statement II are incorrect
Statement I 1s correct but Statement II 1s incorrect
Statement I 1s incorrect but Statement IT 1s correct

o ek

s L

Options:

1908896169. 1
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1908896170. 2
1908896171. 3
1908896172. 4

Question Number : 68 Question Id : 1908891559 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
A g FUA RU AT E

FUYT - 1 WVD)F TR, (VD) F TR & 3T T g d

FUF - I1: FFT ATA # GERATA SEHAC A Tolell # WO TF Fael HFHHNS

¢l
3T FUA F A A o et # ¥ W 3o I

1. Fu 137 3= & £
). FUF 1HT I aEr 797 £
3. F94 198 ¢ foheg Fua 1770 £
4. FUF 177 ¢, g FuT T 2

Options:

1908896169. 1
1908896170. 2
1908896171.3
1908896172. 4

Question Number : 69 Question Id : 1908891560 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Which of the following compound which does not match with 1ts formula?

Phosphine — PH;

Phosgene — CoCly

Tear gas — CCI3NO;

Mustard gas - CICH,CH,SCH,CH,C1

| ]

B

Options:

1908896173. 1
1908896174. 2
1908896175. 3

1908896176. 4

Question Number : 69 Question Id : 1908891560 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

feafaf@a # ¥ Fi7 o 3+ 3oa 93 & gafe 748 € 2

1. BIEHIA - PH;

2. WIESAE - CoCl

. Y 3" - CCLNO;

4. ATTE AW - CICHL,CH,SCHLCHAC]

L¥¥]

Options:

1908896173. 1
1908896174. 2
1908896175. 3

1908896176. 4

Question Number : 70 Question Id : 1908891561 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Indium of high purity can be obtained by -

Zone refining

van Arkel method
Mond’s process
Electrolytic refining

|

o

Options:

1908896177. 1
1908896178. 2
1908896179. 3

1908896180. 4

Question Number : 70 Question Id : 1908891561 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
3= AT FT STH _ F AW o a1 S Tt ¢

1. HSol TisHoT

el - e =3

3. AT YFH

4. SEIAHTUCAT FISHI0T

[ ]

Options:

1908896177. 1
1908896178. 2
1908896179. 3

1908896180. 4

Question Number : 71 Question Id : 1908891562 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Which of the following elements have similar/ close electronegativity value at Pauling scale?
A St
B. Ge
C.Sn
D.Pb

E.C

Choose the cerrect answer from the options given below:

1. AandB only

2. A.BandC only
3. B,CandD only
4

. Aand E only

Options:

1908896181. 1
1908896182. 2
1908896183. 3

1908896184. 4

Question Number : 71 Question Id : 1908891562 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Hite YA W fAwfeidd # § 8 93 1 §Ae /e Fgga F0TcAsa A &7

A Si
B. Ge
C.Sn
D.Pb

E £

A1 fov 10 Rwedt & & 7 3R T

1. %o AHR B
. F9d ABHR C
. %3 B.CHT D
4, 3T AFRE

[

L]

Options :

1908896181. 1
1908896182. 2
1908896183. 3
1908896184. 4

Question Number : 72 Question Id : 1908891563 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Given below are two statements
Statement I: The alkali metal halides are all high melting and coloured erystalline solids.
Statement IT: The alkali metal halides have high negative enthalpies of formation.

In light of the above statements, choose the most appropriate answer from the options given
below

Both Statement I and Statement II are correct
Both Statement I and Statement II are incorrect
Statement I 15 correct but Statement II 1s incorrect
Statement I 15 incorrect but Statement II 1s correct

e pa b
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Options :

1908896185. 1
1908896186. 2
1908896187.3
1908896188. 4

Question Number : 72 Question Id : 1908891563 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
A 3wy T v B

FYT - 1: 6 91q F goss T 327 Aoaeware 3R Tl freeea 2 2 €
FUF - [1: 6% O F gengst & a0 $r 559 Fomeas =4 g gl
FYF YA F e H AATOdd el # § Tl 3ea I

1. FUF 13T 1 3=t a8 &l
). FYF 13T 03T 799 &
3. FU 18E ¢ g Fue 700 Bl
4. FUT 1709 . e FUF LT 2
Options:
1908896185. 1
1908896186. 2
1908896187. 3
1908896188. 4

Question Number : 73 Question Id : 1908891564 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Which of the following hydrides are erystalline, non-volatile and non-conduecting n solid state.

Tonic hydrides only

Covalent hydrdes only

Metallic hydrides only

Covalent and metallic hydrides both

e

ol

Options :

1908896189. 1
1908896190. 2
1908896191. 3
1908896192. 4

Question Number : 73 Question Id : 1908891564 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
3T 3T # ARl # ¥ Fi9 97 gREs Rread. yarefe T s £ 0

I. S99 HOAF FESEE

1. I TEHAAF FIEIES
. %ad uifca® FTEIES
HEHAIF 3 uifca® F1EeEs o

L%}

=

Options:

1908896189. 1
1908896190. 2
1908896191. 3
1908896192. 4

Question Number : 74 Question Id : 1908891565 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Given below are two statements. one 15 labelled as Assertion A and the other 15 labelled as
Reason R

Assertion A: On bringing the two nuclei closer, 1t results in a sudden nerease m energy and
stabilization of the molecules

Reason R: The electron density between the nucle increases because of orbital overlap

In light of the above statements. choose the most appropriate answer from the options given
below

Both A and R are correct and R 1s the correct explanation of A
Both A and R are correct but R 1s NOT the correct explanation of A
A 15 correct but R 1s not correct

A is not correct but R 1s correct

bl =t

e

Options:

1908896193. 1
1908896194. 2
1908896195. 3

1908896196. 4

Question Number : 74 Question Id : 1908891565 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A g Fu feU a0 € : 0 F AU () #T G A FAOT (R) FET A g

HIFFU (A) : 3 AR FT TG AG FIROTA FTTF Fo # g AR g
B Fier 8|

FNUT (R) : F&TH F HfGcq9a § 2 ATt F 67 g+ Tded ¢ AT E
3FT FU F A A faeifea et # & 7 5ot 3

- (A) I (R) AT T E AT (R). (A) F FEY A B

Q) IR (R) AT T E T (R). (A) Fr FEr e G L
(A)WET § g (R) T AT 81

. (A)TE T § T (R) T L

Options:

frm—

[

P e
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1908896193. 1
1908896194. 2
1908896195. 3

1908896196. 4

Question Number : 75 Question Id : 1908891566 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The element X. Y and Z belong to group 13. 14 and 15. respectively. X, Y and Z are

X=Th. Y=Pb, Z=DBi
X=In.Y=5n 7Z=At

bd

3. X=Th.Y=S8n.Z=Sb
4. X=TLY=Pb,.Z=Bi1
Options:

1908896197. 1
1908896198. 2
1908896199. 3

1908896200. 4

Question Number : 75 Question Id : 1908891566 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
T X.YIN ZIT 3. 43X ST EEWOT & XY AT Z ¢ -

X=Th.Y=Pb.Z=5Bi1
X=InY =5n7Z=At
X=Th.Y=Sn.Z=Sb
X=TLY=Pb.Z=B1

| S

5w

Options:
1908896197. 1
1908896198. 2

1908896199. 3
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1908896200. 4

Question Number : 76 Question Id : 1908891567 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The given graph represents-

ls
2s
i

;1)
3s

|

Ao

Options:

1908896201. 1
1908896202. 2
1908896203. 3

1908896204. 4

Question Number : 76 Question Id : 1908891567 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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p
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o |
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L)
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Options:
1908896201. 1
1908896202.

1908896203.

A WN

1908896204.

Question Number : 77 Question Id : 1908891568 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Select the correct option for the preparation of Slaked lime.

CaC0; * HpSO; — casO, + HO + €O
Ca0  * 8i0, —— casio,

CaOHj + CO, — caco, + H,0

Cad  * HO ——— Ca(OH)
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Options :

1908896205. 1
1908896206. 2
1908896207. 3
1908896208. 4

Question Number : 77 Question Id : 1908891568 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

T 1 3 & forr T foeew 1 o

CaCO3 * HS0O, — casO, + HO +  CO,

Cad  * sio, > (aSio;

CalOR), * O,

» (CaCOy; ¢+ H,0

C0 *+ HO — Ca(OH),

Options:

1908896205. 1
1908896206. 2
1908896207. 3

1908896208. 4

Question Number : 78 Question Id : 1908891569 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Given below are two statements. one 1s labelled as Assertion A and the other 15 labelled as
Reason R

Assertion A: Charactenistic oxidation state of lanthanoids 1s +3 but cerium shows +4 oxidation
state too.

3t : . . i
Reason R: Ce™ after losing one more electron acquires stable 41° electronic configuration.

In light of the above statements. choose the most appropriate answer from the options given
below

Both A and R are correct and R 1s the correct explanation of A
Both A and R are correct but R 1s NOT the correct explanation of A
A s correct but R 15 not correct

A is not correct but R 1s correct

s —

e L

Options:

19088962009. 1
1908896210. 2
1908896211. 3

1908896212. 4

Question Number : 78 Question Id : 1908891569 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A & Fu4 for a0 § 0 F Al E (A) 3R ZEY FF FROT (R) FET AT B

HEFYF (A) : FFTE F A0 AR HTEAT 3@ ¢ oAfRT @faw
+4 3R e oft T g

FRT (R): C™ UF T AT FT W 4F° SoeIaF [d=aTd 9o FT o ¢
ITFT FUAI F AT 7 fwAind fwea A § T 3R I

(A) T (R) 3t T € AR (R). (A) F WY e g
(A) X (R) T TET & T (R). (A) 1 T =rear 72 g
A) T § Weq (R) e A6l 2

A) B8 T § e (R) Tl &

Options :

[

[

L )

(
(

S
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1908896209. 1
1908896210. 2
1908896211. 3

1908896212. 4

Question Number : 79 Question Id : 1908891570 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Choose the correct statement from the following-

1. Beryllum sulphate 1s readily soluble in water as the greater hydration enthalpy of
Be®™ overcomes the lattice enthalpy factor

Copper matte contains Cu,S and ZnS

All the three N-O bond lengths i1 HNO; are equal

XeOF 15 spsdi-dismrted octahedral molecule

| ]

=N ¥

Options :

1908896213. 1
1908896214. 2
1908896215. 3

1908896216. 4

Question Number : 79 Question Id : 1908891570 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
famafofda & & & 9 Ft T4

1. aftferm wethe O A AT ¥ geeelie § FF BT R e reded
SHF Ao T § HOE e g

2. F BT H CusS 3T ZnS%ﬁFIT?I

. HNO; # 84T N -0 39y 7F1E §AF £l

. XeOFy sp'd’ 3 FoehedIg 77 2|

L)

g

Options:
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1908896213. 1
1908896214. 2
1908896215. 3

1908896216. 4

Question Number : 80 Question Id : 1908891571 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two statements. one 15 labelled as Assertion A and the other 1s labelled as
Reason R

Assertion A: CCly 15 msoluble 1n water while S1Cls 15 soluble 1 water.

Reason R: S11n S1Cly can accommodate the lone pair of electrons i d-orbitals obtained from
oxygen atom of water molecules.

In light of the above statements, choose the most appropriate answer from the options given
below

. Both A and R are correct and R 1s the correct explanation of A

. Both A and R are correct but R 1s NOT the correct explanation of A
. A s correct but R 15 not correct

. Ais not correct but R 15 correct

| e

e o

Options :

1908896217. 1
1908896218. 2
1908896219. 3

1908896220. 4

Question Number : 80 Question Id : 1908891571 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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A 3 FUF T AT E ;0 F AAFAF (A) HR TH FTFROT (R) FT A £

HXFUF (4): CCL I #F Feeetelier & Fafeh SiCl, Toraaeler #

FROT (R): SiICLH Si d-FEH & el F FFEIAT THAN] & T JIA Joerell
T2 T 2|

I9YF FIAT F HAG # fAnd Few # ¥ T 3R I

[S—

Q) R (R A T AR (R). (4 wE

- (&) (R) A T E g (R). (A) H T AMEA T L
. (A)TE § W (R) T AL B

. (A) T TG W (R)FE B

Options :

e L5 b

1908896217. 1
1908896218. 2
1908896219. 3

1908896220. 4

Question Number : 81 Question Id : 1908891572 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Identify the optically active compound from the following

cis-[PtCly(en),]*
trans-[CrCly(ox),]*
[Cr(NH3)sCl]
trans-[Co(en),Cl,]*

Ju o bl

Options:

1908896221. 1
1908896222. 2
1908896223. 3

1908896224. 4
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Question Number : 81 Question Id : 1908891572 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

ol i # ¥ g9 vfeg JifTs Fr 929+

1. cis-[PtCly(enh]*

2. n'ans-[CrClg[DX)ﬂa_

3. [Cr(NH;)sCl]

4. trans-[Co(en)Cla]”
Options:

1908896221. 1
1908896222. 2
1908896223. 3

1908896224. 4

Question Number : 82 Question Id : 1908891573 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two statements

Statement I: Displacement redox reactions fit info metal displacement and non-metal
displacement

Statement II: The non-metal displacement redox reactions include hydrogen displacement but
rarely oxygen displacement

In light of the above statements, choose the most appropriate answer from the options given
below

Both Statement I and Statement II are correct
Both Statement I and Statement II are incorrect
Statement I 1s correct but Statement II 1s mcorrect
Statement I 1s mcorrect but Statement II 1s correct

e fao b

Options :

1908896225. 1
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1908896226. 2
1908896227. 3
1908896228. 4

Question Number : 82 Question Id : 1908891573 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
AT T FAA U AT E

Fu - 1. farara EEw sl g @ s Reas F e sfe g

FU - 11 3T e e sfEfwast & gegiee fSram g g ot
e foreames a5 & o 2

T FIA F HAF & Aferad feedt & § T el 9

1. FuF 138X naar T8 £
2. FUF 13X 124 79 F)

3. FY I8¢ 8. Feg Fuw 07ea €l

4. FUF 199 . TFg Fua 1T £

Options:

1908896225. 1
1908896226. 2
1908896227. 3

1908896228. 4

Question Number : 83 Question Id : 1908891574 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Which of the following statements are correct?

A, Beryllium oxide is purely acidic in nature

B. Hydrides of group 14 are electron precise

C. PbO; is stronger oxidizing agent than SnO

D. Fullerenes have dangling bonds

Choose the correct answer from the options given below:

1. A and B only
2. Band C only

L]

A and D only
4. A and C only
Options :

1908896229. 1
1908896230. 2
1908896231. 3

1908896232. 4

Question Number : 83 Question Id : 1908891574 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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TeoTea § ¥ Fia Or F9 T2r 87
A INTETA HFEES L FF § FFCT TFHid F1 &

B.F3 14 % FEIST TorFelal qUT &l &l

C. PbO, SnO ¥ 9T HTFHFITH &1

D. Felild H FeIam 4 g F
A for T Reedt # ¥ WEr e g

1. 3T AFT B
. FFa BIHT C
FId AFT D
4. T AXAT C

[ ]
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Options:

1908896229. 1
1908896230. 2
1908896231. 3
1908896232. 4

Question Number : 84 Question Id : 1908891575 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the following is not the source of radioactive elements?

1. Pitchblende
2. Monazite

3. Baryte
Cleveite

o

Options :
1908896233. 1
1908896234. 2
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1908896235. 3

1908896236. 4

Question Number : 84 Question Id : 1908891575 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

TR AT s oA gt T RT AET & 2

1. fereer==

2. AATARS

3. @

4. Foldsc
Options:

1908896233. 1
1908896234. 2
1908896235. 3
1908896236. 4

Question Number : 85 Question Id : 1908891576 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Assuming the ethanol vapour to be a perfect gas, calculate the internal energy change when
1 mol of ethanol at 78° C and 1 bar pressure is converted to solid at ~114°C. Given the enthalpy

of fusion of ethanol (solid) is 4.9 kJ mol™, specific heat capacity of ethanol is 2.46 Jg_lo('_l

30 k7 mol”

~-30.0 kT mol”
3. +26.6 kI mol”
4, ~26.6 kI mol’

e =

Options:
1908896237. 1
1908896238. 2

1908896239. 3

Page - 103


https://link.testbook.com/bQQ2EkH1bpb
https://link.testbook.com/bQQ2EkH1bpb

N P> Google Play

1908896240. 4

Question Number : 85 Question Id : 1908891576 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

VYT 9190 1 37T 19 WHH ST Sl g 1 AT Hi0, 99 1 3id U 78°C A
9 1 bar T4 W, —114°C T/ T U411 3 § Ua@faq zidl 21 Tt (3r) 4 Tem weed
4.9 kT mol™ 3t fafwre Zmmmenfiar 2.46 I °C™ € 8 2|

30 k7 mol™

). —30.0 kJ mol®
3. +26.6 kJ mol®
4, -26.6 kI mol®

-

Options:

1908896237. 1
1908896238. 2
1908896239. 3

1908896240. 4

Question Number : 86 Question Id : 1908891577 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

If the enthalpy of vaporization of CCly is 15.4 kT mol™, then the heat required for the
vaporization of 30g of CCly at constant pressure 1s:
(Given: Molar mass of CCly =154 g mol™?)

154kJ
3.0k]

462 kJ
£ K

b —

ol

Options :
1908896241. 1
1908896242. 2

1908896243. 3

Page - 104


https://link.testbook.com/bQQ2EkH1bpb
https://link.testbook.com/bQQ2EkH1bpb

N P> Google Play

1908896244. 4

Question Number : 86 Question Id : 1908891577 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

e CCL FF TSI TRwdT 15.4 kI mol™ &, A F8IT 2@ W 30 g CCL #F arssiiga
T F Ty T E

(fem amam & - L T AR ZEUA = 154 g mol™)

154k]
30k
462 kI
513k1

m e B

Options:

1908896241. 1
1908896242. 2
1908896243. 3

1908896244. 4

Question Number : 87 Question Id : 1908891578 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The quantitative aspects of electrolysis was described by:

1. Galvam
2. Faraday
Nernst
Volta

P

Options:
1908896245. 1
1908896246. 2

1908896247. 3
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1908896248. 4

Question Number : 87 Question Id : 1908891578 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

JEYAHTTA & ATACHF T&TT T JUT _ F AN fhaT AT AT

1. =a4r
e

qAEE
4. Jrear

[ ]

L]

Options:

1908896245. 1
1908896246. 2
1908896247. 3

1908896248. 4

Question Number : 88 Question Id : 1908891579 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Inversion of cane sugar is example of

Zero order

First order
Second order
Pseudo first order

b =

e

Options :

1908896249. 1
1908896250. 2
1908896251. 3
1908896252. 4
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Question Number : 88 Question Id : 1908891579 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

T8 - AR FT Iaell@T T 3STEI0T 2

=

T FIfe Fr FAfwar
A FiTe FT ATATRAT
3. gfadrr Fife $Fr wfatear
4. TF 9uH e Fr FAfATFaw

Options :

| ]

1908896249. 1
1908896250. 2
1908896251. 3

1908896252. 4

Question Number : 89 Question Id : 1908891580 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two statements. one 15 labelled as Assertion A and the other 15 labelled as
Reason R

Assertion A: Adsorption and absorption cannot take place simultaneously.
Reason R: The term sorption 15 used for to describe adsorption as well as absorption.
In light of the above statements. choose the most appropriate answer from the options given

below

Both A and R are correct and R is the correct explanation of A
Both A and R are correct but R 1s NOT the correct explanation of A
A 15 correct but R 15 not correct

A 15 not correct but R 1s correct

e e B

Options:
1908896253. 1
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1908896254. 2
1908896255. 3
1908896256. 4

Question Number : 89 Question Id : 1908891580 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A 2 Fua foU av § v AU (A) 3X S FOFWOT (R) FET AT £

HIFFUT (A): FUMNGUT UF HIMGUT FY - T T2 F TFA £

FUT (R) : HTATO TF 3TN F THSA F T 9907 g F g2 FFaw
£l

IS FIA F Ao A (At e # ¥ 7 5

A) 3R (R) 4T TE AR (R). (A) BT TEY e g

[a—

i
2 (A) AR (R) g FE € T ( R;.(A]ﬁ'ﬂﬁﬂ'ﬁ&'ﬂﬂ'ﬁ?l
3. (A) W & T (R) WEY A £
4. (A)TE T E T (R) T E
Options:

1908896253. 1
1908896254. 2
1908896255. 3

1908896256. 4

Question Number : 90 Question Id : 1908891581 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Which of the following 1s correct graph for Arrhenius equation?

In A

N
%
\ -E,R
\\\

5 Ink
i

Temperature

In A

Ink
2. EJ/R

Y
™

o

Temperature

In A

Ink

(93]

N -ER

T

_ Y .
1/ Temperature

In k L

1/ Temperature

Options:

1908896257. 1
1908896258. 2
1908896259. 3

1908896260. 4
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Question Number : 90 Question Id : 1908891581 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
¥riETE AT F r AT # § Si9 |97 ¥eg J@er g

In A
™
\-\
In k \a‘
1 N ~EJR
™
AN
\\
Temperature
In A
.3

-2

" \ EJ/R
&

Temperature

Ink

\'\
1/ Temperature

Options:
1908896257. 1

1908896258. 2
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1908896259. 3

1908896260. 4

Question Number : 91 Question Id : 1908891582 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Which of the following compounds does not form hydrogen bonding?

1. HF
2. NH;
HCl
HI

e L

Options:

1908896261. 1
1908896262. 2
1908896263. 3

1908896264. 4

Question Number : 91 Question Id : 1908891582 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
fAeafaf@a diferst & @ Fia gFrEsisa A=y J47 94101 ¢ 2

HF
NH;
HC1
HI

I =

ol

Options:

1908896261. 1
1908896262. 2
1908896263. 3

1908896264. 4
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Question Number : 92 Question Id : 1908891583 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

N> gas with a known amount occupies a volume of 15mL at certain temperature and pressure. If
the temperature is doubled and the pressure is reduced to 1/6® as well as the amount of Ny get
halved. then the volume of Nj 1s:

1. 10mL
2. 22.5mL
3. 90 mL
4, 360 mL

-

Options:

1908896265. 1
1908896266. 2
1908896267. 3

1908896268. 4

Question Number : 92 Question Id : 1908891583 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

fafRaa a9 3R g@ WN, 3% 79 A 15wl 0 W g1 TG O H:
G 3 F 16T FH ARN, FT A F1 3147 F fgam . 37N, 19 #3170
g AR

1. 10mL
22.5mL
90 mL
360 mL

|

o]

Options:

1908896265. 1
1908896266. 2
1908896267. 3

1908896268. 4
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Question Number : 93 Question Id : 1908891584 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

If radius of umit cell 1s taken unity. then the correct order of packimg efficiency for fec. bee and
simple cubic lattice 1s

fee > bee > simple cubic

b ek

bee > fee > simple cubic
simple cubie > fec > bee
bee > simple cubic > fee

et o

Options:

1908896269. 1
1908896270. 2
1908896271. 3

1908896272. 4

Question Number : 93 Question Id : 1908891584 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

T v e F F=wr 7 53 BF F9 7 fec. bee HT T 6T F00F F
0 Hholel &TAATHT #1 Wel FA ¢ .

1. fee>bee > T AT S
2. bee > foc > I AT ATelF
. TS HAT e > fee > bee
4. bee > T TANT oIS > fee

-

faa

Options:

1908896269. 1
1908896270. 2
1908896271. 3

1908896272. 4

Question Number : 94 Question Id : 1908891585 Question Type : MCQ Option Shuffling : No Is

Page - 113


https://link.testbook.com/bQQ2EkH1bpb
https://link.testbook.com/bQQ2EkH1bpb

N P> Google Play

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two statements

Statement I: The value of equilibrium constant is dependent of mitial concentration of reactants
and products,

Statement II: The equilibrium constant for the forward reaction 1s equal to the equilibrium
constant for the backward reaction.

In light of the above statements, choose the most appropriate answer from the options given
below

. Both Statement I and Statement II are correct

. Both Statement I and Statement II are mncorrect

3. Statement I 1s correct but Statement II 1s incorrect
4. Statement I 1s incorrect but Statement 1T 15 correct

Options :

1908896273. 1
1908896274. 2
1908896275. 3
1908896276. 4

Question Number : 94 Question Id : 1908891585 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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AT FERT AT §

FUS - [ TFIEE U0 1 A AfaFRar 37 3R f7 INEE §Ea W
et w1 7

FUF - 11: FIOTAET HTATRTT 77 FFgEEdr TuwE qemenEr 3R F e
Brs # Fue g B

IYFT FUA F AT H ArAToned GFed B T 3o I ¢

|, FUF 1A m2e T8 &
2. FUT 13T 1= 9 2

3. FY 198 £ g 99 17 £
4. FUF 1799 & g P 1T £

Options :

1908896273. 1
1908896274. 2
1908896275. 3

1908896276. 4

Question Number : 95 Question Id : 1908891586 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Given below are two statements

Statement I: Enzymes are termed as biochenueal catalysts.

Statement IT: The process of converting a precipitate mto colloidal sol by shaking with
dispersion medium in the presence of a small amount of electrolyte is called precipitation.

In light of the above statements, choose the most appropriate answer from the options given
below

Both Statement I and Statement II are correct
Both Statement I and Statement II are incorrect
Statement I 15 correct but Statement IT 1s incorrect
Statement I 1s incorrect but Statement II 1s correct

[ SR

o

Options:

1908896277. 1
1908896278. 2
1908896279. 3

1908896280. 4

Question Number : 95 Question Id : 1908891586 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

AT A FAF BT AT
FUT - 1. =R F A% I97F F24 2l

FUF - 11: 58T 3989 & dgasvey # 4 & A 3ufEafa & ofewo
TR F WY T FieEd ga § IRefad T 96 TFA HTET FEa £

I FUA F A6 A il FEed # § w3 9

1. FuF 13T 12 g
2. FUF 13T 1A 70 £
3. FYF 1T £ e F99 170 £

4. FYF 1790 ¢ Feg 97 1T £
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Options :

1908896277. 1
1908896278. 2
1908896279. 3

1908896280. 4

Question Number : 96 Question Id : 1908891587 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Let N be the number of close packed spheres that formed during three dimensional close packing
from two dimensional hexagonal close packed layers. The number of tetrahedral and octahedral
voids are, respectively:

N and 2N
Nand N
Nand N
2N and 2N

| R

Gl

Options:

1908896281. 1
1908896282. 2
1908896283. 3

1908896284. 4

Question Number : 96 Question Id : 1908891587 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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s fafes wfoa wet  gewr N A gl - i @R agie w=
¥ Rfew ffes dgem F G a1 &1 & THeid AN ek RiFar #
perc e S G- e

1. N3 2N
2. INJFRN
3. NIRN

4, NI N

Options:

1908896281. 1
1908896282. 2
1908896283. 3

1908896284. 4

Question Number : 97 Question Id : 1908891588 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
Which of the following 1s not a colligative property?
1. Osmotic pressure
2. Elevation of boiling point

Depression i freezing point
Vapor pressure

B

Options:

1908896285. 1
1908896286. 2
1908896287. 3

1908896288. 4

Question Number : 97 Question Id : 1908891588 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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farafof@a & & FiaT Ho[EEd oTH J8 ¢ -

1. 9ITHIOT 29
FIUATR FT IeAded
. BT = HEaEa
4. 49 <14

[ ]

L]

Options:

1908896285. 1
1908896286. 2
1908896287. 3

1908896288. 4

Question Number : 98 Question Id : 1908891589 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

On dissolving urea in 500g of water and cooled up to 272.65 K. the 128g of ice separates out
from the solution. What amount of urea 1s dissolved? (K#=1.86 K kg/mol)

1. 0.06g
2. 0.6¢g

3. 6.0g

4. 60g
Options:
1908896289. 1
1908896290.

1908896291.

A W N

1908896292.

Question Number : 98 Question Id : 1908891589 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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AT F 500 ¢ A F GERT 27265 K AT T B3 T W 128 g T faodal § Hew
g A %’IW 1 e AT ‘EI__.?'TT g 7 (K=1.86 K kg/mol)
0.06g

0.0¢
. 0.0g

b =

o N ]
Lo
=
b=

Options:

1908896289. 1
1908896290. 2
1908896291. 3
1908896292. 4

Question Number : 99 Question Id : 1908891590 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two statements. one 15 labelled as Assertion A and the other 15 labelled as
Reason R

Assertion A: The solubilities of two sparingly soluble salts, Ni(OH), and AgCN with K of 4 x
3 10 =
107and 1 x 107 mol/L respectively.

Reason R: AgCN 1s less soluble than Ni(OH),.

In light of the above statements, choose the most appropriate answer from the options given
below

1. Both A and R are correct and R 15 the correct explanation of A

2. Both A and R are correct but R 1s NOT the correct explanation of A
3. A s correct but R 1s not correct

4. A 1snot correct but R is correct

Options :

1908896293. 1
1908896294. 2
1908896295. 3

1908896296. 4
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Question Number : 99 Question Id : 1908891590 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A g U7 U AT &  vF S AfEFAE (A) JX T FOFROT (R) FET A

HRFUT (A): T HeqTaerd TV Ni(OH), T AgCN F e Toesd (K)
FAM: 451073 1x 10 mol/L &

FRT (R) : Ni(OH), $T 3YET AgCN FR ool £
TFT FUA F e F g fahedt # ¥ T 3o I

(AR (R) T TE £ 3T (R). (A) Fr TEr T g
(A) #T (R) 3T WG & T (R). (A) FT HEr cq;EAw 7
. (A)®E § W] (R) T A L

(A) TET 7T § T (R) T &

Options:

e L) [ ] [

1908896293. 1
1908896294. 2
1908896295. 3
1908896296. 4

Question Number : 100 Question Id : 1908891591 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Given below are two statements
Statement I: Glass 1s an extremely viscous liquid.
Statement II: Viscosity of liquid decreases as the temperature rises.

In light of the above statements. choose the most appropriate answer from the options given
below

Both Statement I and Statement I are correct
Both Statement I and Statement IT are mcorrect
Statement I 15 correct but Statement II 1s incorrect
Statement I 1s incorrect but Statement II 1s correct

b —

N S )

Options :

1908896297. 1
1908896298. 2
1908896299. 3
1908896300. 4

Question Number : 100 Question Id : 1908891591 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A 2 Fud v v §

FUF - 1: F19 T A F=of=ror &= g

FUA - II: A9 9 W g9 HI WIS FT 0T FA &l g

39YFT FUAT F s 7 Feataras FFedr & ¥ T SoaX I+

1. FUT 13T na=1 v #l
2. FUA 13X LT T B
3. FUA 18 8. g Fua m e £
4. FUT 1770 2. =g FU7T DT EI

Options:

1908896297. 1
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1908896298. 2
1908896299. 3
1908896300. 4

Part C Mathematics

SectionId: 19088944
Section Number : 3

Section type: Online
Mandatory or Optional : Mandatory
Number of Questions : 50
Number of Questions to be attempted : 50
Section Marks : 200
Enable Mark as Answered Mark for Review and

Clear Response: "
Sub-Section Number : 1
Sub-Section Id : 19088970
Question Shuffling Allowed : Yes

Question Number : 101 Question Id : 1908891592 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A Set A has 4 elements and another Set B has § elements. Then

1. 4=n(AUB)<8

2. 4<n(AUB)<12

3. 8<n(AUB)<12

4. 0<n(AUB)<12
Options:

1908896301. 1

1908896302. 2
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1908896303. 3

1908896304. 4

Question Number : 101 Question Id : 1908891592 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
frd! FH==T A# 4 3909 € U7 UF ¥ WH=IT BH 8 3949 g o

4<n(AUB) <8
4 <n(AUB) < 12
8 <n(AUB) < 12
0<n(AUB) < 12

b =

b

Options:

1908896301. 1
1908896302. 2
1908896303. 3
1908896304. 4

Question Number : 102 Question Id : 1908891593 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The function f{(x) = loglx + / (x* + 1)] s

Neither an even nor an odd fuction
An even function

An odd function

A periodic function

R N o I

Options:

1908896305. 1
1908896306. 2
1908896307. 3

1908896308. 4
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Question Number : 102 Question Id : 1908891593 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

eleT f(x) = log[x + /(x* + 1)]

1. & af TF §F $od g 3T a1 & v T9H waaT g
U OH Fold gl
T+ &OvH wad gl

UF HT9d Feod gl

[

[ N

Options:

1908896305. 1
1908896306. 2
1908896307. 3
1908896308. 4

Question Number : 103 Question Id : 1908891594 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A function f from the set of natural numbers to integers defined by

n—1 ,
: ; whenn is odd
f(n) =
—= ; whenniseven
2 is
1. Neither one-one nor onto
2. One-one but not onto
3. Ounto but not one-one
4. One-one and onto both
Options:

1908896309. 1

1908896310. 2
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1908896311. 3

1908896312. 4

Question Number : 103 Question Id : 1908891594 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

FE G { IHd TEABT F TH=IT ¥ qUOHT a5

n-—1

: : whenn is odd
f(n) =
— E : whenn iseven

ZaNT aRAT g1 I8 Head

. AT at Ther g 3R AT 8@ A=oeS g
. THHT § R=q H=oeF T4 ¢
H=BTeH & e Thahr Fdr 2|

. THH 3T =oReE g T

—

[

N 5

Options:

19088963009. 1
1908896310. 2
1908896311. 3

1908896312. 4

Question Number : 104 Question Id : 1908891595 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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X T ik
. f(x) =sin|x+—)+cos(x+- lﬂq" |
The maximum value of ( 6) ( GJNESmThEHWEwaI 21 if the value of x 15

2
S lawlag acis

o

Options:

1908896313. 1
1908896314. 2
1908896315. 3
1908896316. 4

Question Number : 104 Question Id : 1908891595 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

f(x) = sin (x-l—%)ﬁ--:os{_x +E)$|' HFgH AT HITA [UE} =l e e

6
g

[ B

N T T CLAE

N ]

Options:

1908896313. 1
1908896314. 2
1908896315. 3
1908896316. 4

Question Number : 105 Question Id : 1908891596 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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COSX. cas(g +.r) .cns(— —x) :i ;x € [0,3n] A

&
3

The sum of all the solutions of the equation

207

=

4

10m
197

3

=Y L

Options:

1908896317. 1
1908896318. 2
1908896319. 3
1908896320. 4

Question Number : 105 Question Id : 1908891596 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

mcosx. ms@+x).cos(§ —-") :é ;x € [0,3n] + Taft g?uﬂ' FT IT E’ :

20m
3
4

10m
1om

g =

LS

o
(75

Options:

1908896317. 1
1908896318. 2
1908896319. 3

1908896320. 4

Question Number : 106 Question Id : 1908891597 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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; = ; Zx .
For x = 1, the value of f(x) = 2tan™!x+sin™? — is
1+x°
1. 4tan~lx
2. 2
3. B
4, 2m
Options:

1908896321. 1
1908896322. 2
1908896323. 3

1908896324. 4

Question Number : 106 Question Id : 1908891597 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

5 .

. -1 | g
51 o fomr fix) =tan™" x + sin i FT AT :

4tan~1x

b =
SR REE
=3

e L

Options:

1908896321. 1
1908896322. 2
1908896323. 3

1908896324. 4

Question Number : 107 Question Id : 1908891598 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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For what value of A. the equations 7x - S5y +3=0.2x + 3y=8 and 4x - 6y + =10 are
consistent?

4
g
-4
No such value of } exists

e L b =

Options :

1908896325. 1
1908896326. 2
1908896327. 3

1908896328. 4

Question Number : 107 Question Id : 1908891598 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
1% T A F T m iR x-Sy +3=0. 25+ 3y=8 AN 4x - 6y + 1 =0TT § *

4
g
. -4
L& U8 R A # #TEaeE 7 2

B B e

Options :

1908896325. 1
1908896326. 2
1908896327. 3
1908896328. 4

Question Number : 108 Question Id : 1908891599 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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a3

1 1 + sinx sinx
IfA(x) = COSX COSX sinx Alx).dx
1—cosx 1l+sinx—cosx 1 | theno 1s equal to

1
1. —
4
y &
23
3. @

1

B

4
Options:

1908896329. 1
1908896330. 2
1908896331. 3

1908896332. 4

Question Number : 108 Question Id : 1908891599 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

1 1 + sinx sinx .
Alx) = | cosx cosX sinx Jaﬂ:.l'[,x).d:{
g l-cosx l+sinx—cosx 1 1gar I ¢

Ry w—

b

-1/4

Options:

1908896329. 1
1908896330. 2
1908896331. 3

1908896332. 4

Question Number : 109 Question Id : 1908891600 Question Type : MCQ Option Shuffling : No
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Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
A function £: R—R satisfies the equation f(x + y) = f{x). f(y) for all x.y € R: f(x) # 0. Suppose

that the function f(x) is differentiable at x =0 and £(0) = 2.If f'(x) = . f(x), then the value
of 415

o =

1
2
1
2
Any real number
Options :
1908896333. 1
1908896334. 2
1908896335. 3
1908896336. 4

Question Number : 109 Question Id : 1908891600 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
T# Bl fR—R Weft .y e R: £(x) 2 0 F oI HARIOT f(x + y) = £(x). f{y) AT HTSC HTal
g AT AT Fx =0 Ig Bl f(x) HIFodT & qUT 700) - 2 &1 I 7(x) =11
) AT AT

1
2

12
F5 off IEafes e

b =

Options:

1908896333. 1
1908896334. 2
1908896335. 3

1908896336. 4
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Question Number : 110 Question Id : 1908891601 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

= 13

. dy
Ify = |cosx — sinx|, then .;!_5 atx = - is
X

=<

—v2

V2

0

Not defined

-P-N-r-\.H.'\-\J!—\'

Options:

1908896337. 1
1908896338. 2
1908896339. 3
1908896340. 4

Question Number : 110 Question Id : 1908891601 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

; & dy
Ife 'y = |cosx — sinx| E‘.H’rx:':‘:ﬂ;—'\m S
|
2. V2
3. 0
4. qieAa A8
Options:

1908896337. 1
1908896338. 2
1908896339. 3

1908896340. 4

Question Number : 111 Question Id : 1908891602 Question Type : MCQ Option Shuffling : No
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Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

dy
Ify= {1+:{](1+}:J]{'1+:{4]........(1+}:ju]. then the value of dx at x=0 is
I. 0
2. -1
3. 1
4 2
Options:

1908896341. 1
1908896342. 2
1908896343. 3

1908896344. 4

Question Number : 111 Question Id : 1908891602 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
dy
T v = (1+x)(1+xD) (1. (1™ & T x =0 TWAX FTARTE:

1.8

S T
B = !
—_

Options:

1908896341. 1
1908896342. 2
1908896343. 3

1908896344. 4

Question Number : 112 Question Id : 1908891603 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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The normal to the curve 5 - 10x° +x + 2y + 6 =0 at A (0. -3) meets the curve again at two
points B and C. The length of BC 15

|
-
LA

Options:

1908896345. 1
1908896346. 2
1908896347. 3

1908896348. 4

Question Number : 112 Question Id : 1908891603 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Th 5% - 105 +x+2y+6=0FT A0, -3) W H¥eld 3% ¥ I: & gl BAN CW
Ao &1 &9 BC TR ¢

e
el

[ N ]
|
b

Options:

1908896345. 1
1908896346. 2
1908896347. 3

1908896348. 4

Question Number : 113 Question Id : 1908891604 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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G : : ; Xhi opd ;
The minimum area of the triangle formed by any tangent to the ellipse —+ % = | with the
E y any tang =

coordinate axes 15

1. a+b sq.units
(a+b)? ;
2. = sq. units

(a—b)?

5¢. units

O X ]

. ab sq. units

Options :

1908896349. 1
1908896350. 2
1908896351. 3

1908896352. 4

Question Number : 113 Question Id : 1908891604 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

dged S+1o=1 1 el vl Y ga Tl e F @y g v e
~ATH &A% §

L () T g8
y. ) o gk

2

3. (a-b)? aﬁ. 3?1'%'

2

4. abﬂﬁﬁl’é’

Options:

1908896349. 1
1908896350. 2
1908896351. 3

1908896352. 4

Question Number : 114 Question Id : 1908891605 Question Type : MCQ Option Shuffling : No
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Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

-~

x2

5

dx
If J z=A.In
X — X

. x:\ + C, then the value of 4 1s given by

s | b= £ ba] = b2
'S

Options :

1908896353. 1
1908896354. 2
1908896355. 3

1908896356. 4

Question Number : 114 Question Id : 1908891605 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

dx
x—x3

afx [

=A.n

IflJ%—C?.HTAHFﬂH farafafee ganr fear S ¢

L)

b = bt | = b2
"R Rl

Options:
1908896353. 1
1908896354. 2

1908896355. 3
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1908896356. 4

Question Number : 115 Question Id : 1908891606 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Let f(x) = x-[x]. for every real number x, where [x] is the greatest mteger less than or equal to x.
1 .
Then the value of | _fx).dxis

L
2:
3.
4.

=] e P,

Options:

1908896357. 1
1908896358. 2
1908896359. 3

1908896360. 4

Question Number : 115 Question Id : 1908891606 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

I I+ IEdas TEAT xF [0 f{x) = x-[x] & T [x]. x T BT AN x F TR
Agead T &t [ fx).dx FT AW §

I,

7

3.

_ k=, ©

4,

Options:

1908896357. 1
1908896358. 2
1908896359. 3

Page - 138


https://link.testbook.com/bQQ2EkH1bpb
https://link.testbook.com/bQQ2EkH1bpb

N P> Google Play

1908896360. 4

Question Number : 116 Question Id : 1908891607 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The curve f(x) = sin x and g(x) = cos x mtersects infinitely many times giving the bounded
regions of equal areas. The area of one such region 15

|"-.:I 1
V£ 5q. units

it

2. 2‘-"I25q. units

3. T sq umts

4. 27 5q. units
Options:
1908896361. 1
1908896362. 2
1908896363. 3

1908896364. 4

Question Number : 116 Question Id : 1908891607 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

T f(x) = sin x F g(x) = cos x WEN HINHT T § Feh IR =o€ Xl 5. (0w
T ET%AT 91 TNaE &F 957 2id §1 U0 & U &7 F £9%A ¢

ko i-co
2 22T TS
3. TIN5

4, 203 THE

Options:

[a—

1908896361. 1
1908896362. 2

1908896363. 3
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1908896364. 4

Question Number : 117 Question Id : 1908891608 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The differential equations of all conics whose axes coincide with the coordinate axes 1s

d=y ' _(t‘f}') " dy
Yar \ax) TV ax "
; d:}-+ (d})' N dy &
2. xy=—=+x|—]| +x—=
dx dx dx
d?y dy\~ dy
3. Xy }+xtg)—‘——=0
Yax?" \ax) " ax
i d*y dv‘+ dy i
" ) T dx
Options:

1908896365. 1
1908896366. 2
1908896367. 3
1908896368. 4

Question Number : 117 Question Id : 1908891608 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

3 FAT amRar F 3Tho TAFR Adr weT A e F wry g £
Feateea &

dly  fdy\® dy
L L ea(®) 1y
Y ax? k(dx:q Yo=Y
Tf.f,?v+ 'a‘r)'+ _d}'_ﬂ
T A
dy d}'): dy
3 T".E-I-l(d_x. = '(E 0
d% dy\* dy
4. xy 'q—x(—’) +y—=0
" dx* X T dx
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Options :

1908896365. 1
1908896366. 2
1908896367. 3
1908896368. 4

Question Number : 118 Question Id : 1908891609 Question Type

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

dy ¥ f(:l&)

The solution of the differential equation f:"_\: ==+

X fr{

(where C 1s an arbitrary constant)

i

1L xf (%)

[ ]
"‘1:\.

o
o —
Il
™y
L]

Options:

1908896369. 1
1908896370. 2
1908896371. 3

1908896372. 4

Question Number : 118 Question Id : 1908891609 Question Type

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

GETITON
» Google Play

: MCQ Option Shuffling : No

: MCQ Option Shuffling : No
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ay_y 15
mmﬂwa=;+},,6) FTET E -

[

rf(i) = CHEl C T%h T=5 HA:W ¢

[

¥y = .
f(;)=ﬁ gl C T TEa=o AT g

Tad

¥V e 5
y.f (=) = C =1gf ¢ % T= =W T
X

¥ " y
£(3)=C¢y st c v W= W B

i

Options:

1908896369. 1
1908896370. 2
1908896371. 3
1908896372. 4

Question Number : 119 Question Id : 1908891610 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

. S ST W O | g ST P i
For all real x. the vectors @ = €xI = 6] + 3k and b = X1 + 2] + 2cxk makes an obtuse angle with
each other. Then, the value of ¢ must satisfy which one of the following conditions?

1. 0<e<4/3

2. 43<e<0

3. ¢>-43

4, =413
Options:
1908896373. 1
1908896374. 2
1908896375. 3

1908896376. 4

Question Number : 119 Question Id : 1908891610 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
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Correct Marks : 4 Wrong Marks : 1

oot Il <% ﬁn_;qﬁarﬁ=f1‘i—5}+3i’3¢1¢5=.‘ﬁ"+2}+2::.r£’u3:{m‘@'w
HOF F07 9 81 79, el # ¥ R 90y F o F AW @ @ g

4. N’g

Options:

1908896373. 1
1908896374. 2
1908896375. 3

1908896376. 4

Question Number : 120 Question Id : 1908891611 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The ratio in which the line segment joining the points A(4. 8. 10) and B(6. 10, -8) 1s divided by
the yz-plane 1s given by

2:3 internally
2:3 extemally

C

1:2 mternally
1:2 externally

C

o =

Options:

1908896377. 1
1908896378. 2
1908896379. 3

1908896380. 4
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Question Number : 120 Question Id : 1908891611 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

fagat A(4.5.10) #RB(6. 10.-8) it FeW a1y YWHES F yz- FHAW O T A
feenfsia #7r 8. 98 fewafofe ¢

1. 2:3 AR+ ¥ §
2. 23 dETE:
3. 12 3ANE ™ &
4, 1. 9ETT:

Options:

1908896377. 1
1908896378. 2
1908896379. 3
1908896380. 4

Question Number : 121 Question Id : 1908891612 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

i x—4 V=N SR 3 i i
The line > = 1 intersects the curve xy =¢", z=0. 1f ¢ 1s equal to

=]

+7

i b =

I
H
-
s

Options:

1908896381. 1
1908896382. 2
1908896383. 3

1908896384. 4
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Question Number : 121 Question Id : 1908891612 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

a@r i A L z-lj Hﬂ?x}f=c2.z=0ﬁ Flﬁb_tﬁ' mﬁr%aﬁ ¢ d{edy %’:

-2 1
) &
.
3. =4
4. =2
Options:

1908896381. 1
1908896382. 2
1908896383. 3

1908896384. 4

Question Number : 122 Question Id : 1908891613 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

If from the point P(a.b.c) perpendiculars PA and PB are drawn to yz and zx planes, then the
equation of the plane OAB 15

1. bex +cay+abz=0
2. bex +cay-abz=0
3. bex -cay+abz=0
4. -bex+cay+abz=0

Options:

1908896385. 1
1908896386. 2
1908896387. 3

1908896388. 4

Question Number : 122 Question Id : 1908891613 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
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Correct Marks : 4 Wrong Marks : 1

ofe %P(a.b.c]'@' A }'ZJ'TR' zx 97 FHIA: &9 PA 3T PR T ?Fﬂ' THdd
OAB &1 THEIT ¢ :

. bex +cay+abz=0
. bex +cay-abz=0
. bex - cay +abz =0
. =bex +cay +abz=0

|

e i

Options:

1908896385. 1
1908896386. 2
1908896387. 3
1908896388. 4

Question Number : 123 Question Id : 1908891614 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

There are two boxes. Box A and Box B. Box A contains 3 red and 6 black balls. Box B contains
5 red and n black balls. One of the two boxes 15 selected at random and a ball 1s drawn at
random. The ball drawn 15 found to be red. If the probability that this red ball comes out from

.
Box B 1s § then the value of n is
10
12
20
25

e Laa e =

Options:

1908896389. 1
1908896390. 2
1908896391. 3

1908896392. 4

Question Number : 123 Question Id : 1908891614 Question Type : MCQ Option Shuffling : No
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Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

& @i AR BReT gU §) diFw AH 3T AR 6FT WG §I SR BA sAW AR
nFrell 3¢ E| St # § U dFE B AEoF 39 § A AT § 7A1 3@ G99 A
¥ UF i F IMEos w0 ¢ FFen Sar ¢ @ g i o 9 S §)

wﬁgﬁm%uﬁmﬂaﬁwwm;%%ﬂmm%:

10
12
20
25

|

= B

Options:

1908896389. 1
1908896390. 2
1908896391. 3
1908896392. 4

Question Number : 124 Question Id : 1908891615 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Two numbers x€R and yeR are selected at random such that x€[0.4] and ye[0.4]. The

~

probability that the selected numbers satisty the inequality vy~ < x. 15

Wl Wik ]2 paf =

Options:
1908896393. 1
1908896394. 2

1908896395. 3
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1908896396. 4

Question Number : 124 Question Id : 1908891615 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

o WEHTT xeR 3 yeR ALOH T ¥ 0 THN Fofl A1 & 1o xef04] 3R ye[0.4] 7
SHA SR 6 T 85 FEAT SWTE Y <x B HGE FA £, AeAroad § -

[FCN ISRV [ SR S P S

Options:

1908896393. 1
1908896394. 2
1908896395. 3
1908896396. 4

Question Number : 125 Question Id : 1908891616 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The maximum value of z=3x+4y subject to the constraints x+y <40, x+2y<6.x>0,y>01s
given by

140
170
120
180

b =

Options:
1908896397. 1
1908896398. 2
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1908896399. 3

1908896400. 4

Question Number : 125 Question Id : 1908891616 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

HART by <40, 542y 6,520, y2 0 F HIT z=3xt4y 1 ¥wan 7 frafoifla
AT fear Jar ¢

140
170
120
180

b —

:IL;E_JJ

Options:

1908896397. 1
1908896398. 2
1908896399. 3
1908896400. 4

Question Number : 126 Question Id : 1908891617 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

n

3 n,* )
If (n—1) < (;) holds true for natural number n. then

fAY

1 Gy
1n-
n=
n =2 only

W

2
2
2
"

N R

Options :

1908896401. 1
1908896402. 2
1908896403. 3
1908896404. 4
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Question Number : 126 Question Id : 1908891617 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

y

I (-1 < fg) 9TFd W& o % T wew A

Y

[

s e
n:
n=

Fael n=2

¥

bt =
| I ]

- w

Options:

1908896401. 1
1908896402. 2
1908896403. 3
1908896404. 4

Question Number : 127 Question Id : 1908891618 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

If the imaeinary part of (1-1)".(1+1) " is neeative. where neN., n < 100: then the sum of all the
= 4 p \ \ / =
possible values of n 1s

1. 625
2. 1025
% 1225
4. 1238
Options:
1908896405. 1
1908896406. 2
1908896407. 3

1908896408. 4

Question Number : 127 Question Id : 1908891618 Question Type : MCQ Option Shuffling : No
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Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

TFE (14" (1+)FT HTAHloTd AT HUMHS & & aeN. 0 < 100: A o F T Td
A F I E

625

1025
1225
1238

o =

:-l'-‘.\.E_J.-

Options :

1908896405. 1
1908896406. 2
1908896407. 3
1908896408. 4

Question Number : 128 Question Id : 1908891619 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given six line segments of length 2, 3. 4. 5. 6 and 7 units, Then the number of triangles that can
be formed by joining these lines 1s

10
13
14
20

e Ll B —

Options :

19088964009. 1
1908896410. 2
1908896411. 3
1908896412. 4

Question Number : 128 Question Id : 1908891619 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
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Correct Marks : 4 Wrong Marks : 1

AT T Feht Aol PR T HE E

10
13
14
20

b =

Options:

19088964009. 1
1908896410. 2
1908896411. 3
1908896412. 4

Question Number : 129 Question Id : 1908891620 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The total number of words (with or without meaning) that can be made with the letters of the
word "INTERMEDIATE", if the vowels and the consonants occur alternatively in the words is

1. 43200
2. 21600
151200
75600

= e

Options:

1908896413. 1
1908896414. 2
1908896415. 3

1908896416. 4

Question Number : 129 Question Id : 1908891620 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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eg 'INTERMEDIATE" & &R & aallC S Hebet a1t ofedl 1 of G (37 A1
Tt ae) Rt A = IR T R W e £ 0

43200
21600
151200
75600

[ =S S I S

Options :

1908896413. 1
1908896414. 2
1908896415. 3

1908896416. 4

Question Number : 130 Question Id : 1908891621 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The greatest term in the expansion of (x+y) "~ when x=2. y=1 1s

i gy ol
g, B o
3 13(:._;.111
4, Yoy o1
Options:

1908896417. 1
1908896418. 2
1908896419. 3

1908896420. 4

Question Number : 130 Question Id : 1908891621 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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o= =l T@ ) 'S AR A AGaT € ¢

B N R
[l
=]
™
ol
-
—
jury

Options:

1908896417. 1
1908896418. 2
1908896419. 3
1908896420. 4

Question Number : 131 Question Id : 1908891622 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

1°C1H2. G H3."Cyt... Ty 5 equal to

nn+1)

=

-0

[ -]

7 _'n-l_l
n-1
n2

21

g

Options :

1908896421. 1
1908896422. 2
1908896423. 3

1908896424. 4

Question Number : 131 Question Id : 1908891622 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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12C+22Cy+3.2Cy+... . 2C e §

n{n+1) =

i
ot
2. 2
3. ngr
4, 2"-1
Options :

1908896421. 1
1908896422. 2
1908896423. 3

1908896424. 4

Question Number : 132 Question Id : 1908891623 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

"ﬁ||-—-
'--.___.--"

)
Ifa. b. c are positive and a + b + ¢ = 1, then the mmimum value of ! a ) [

B
o e

16

Options:

1908896425. 1
1908896426. 2
1908896427. 3

1908896428. 4

Question Number : 132 Question Id : 1908891623 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options:

1908896425. 1
1908896426. 2
1908896427. 3
1908896428. 4

Question Number : 133 Question Id : 1908891624 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

If a ray travelling along the line x = 1 gets reflected from the line x +y = 1. then the equation of
the line along which the reflected ray travels 1s

|
A
1

L]

Options:

1908896429. 1
1908896430. 2
1908896431. 3
1908896432. 4

Question Number : 133 Question Id : 1908891624 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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ofe Y@ x=1 % Fefer Tfoae & BT Y xy=1. g@RT WaEfdd ad gt 3
Yo # wr e sefeer wafda v afeae g g efefea £

y=0
x-y=1
x=0
x=y=1/2

|

N

Options :

1908896429. 1
1908896430. 2
1908896431. 3

1908896432. 4

Question Number : 134 Question Id : 1908891625 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Letz=1-t+iyt?4+t+ 2, where t is a real parameter. The locus of z in the argand plane is

An ellipse

A hyperbola
A straight line
A parabola

bl b

i N ]

Options:

1908896433. 1
1908896434. 2
1908896435. 3

1908896436. 4

Question Number : 134 Question Id : 1908891625 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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A AT fFz=1-t+it+t+ 2§ g (U TEqias W9 §1 99, 30 §AAS
Howm gy g

I U Eriged
2. 0% HiowEed
3. TH T @
4, TF Il

Options:

1908896433. 1
1908896434. 2
1908896435. 3

1908896436. 4

Question Number : 135 Question Id : 1908891626 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Coefficient of variation of two distributions are 50 and 60 and their arithmetic means are 30 and
25, respectively. Then. the difference of their standard deviations 15

= s e —
[ ]
r

Options:

1908896437. 1
1908896438. 2
1908896439. 3
1908896440. 4

Question Number : 135 Question Id : 1908891626 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Page - 158


https://link.testbook.com/bQQ2EkH1bpb
https://link.testbook.com/bQQ2EkH1bpb

N P> Google Play

&l dEA F JHNUT- A0 FAA: 50 HT 60§ FUT 39 WA AT FAT: 30 AN 25
g 79, 39F AS e M HAE

1.25
1.5

B R T B

Options :

1908896437. 1
1908896438. 2
1908896439. 3

1908896440. 4

Question Number : 136 Question Id : 1908891627 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Consider the first 10 positive integers, If we multiply each number by -1 and then add 1 to each
number, the variance of the numbers so obtained 15

8.25
0.5

3.87
2.87

N s B e

Options :

1908896441. 1
1908896442. 2
1908896443. 3

1908896444. 4

Question Number : 136 Question Id : 1908891627 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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IR 10 TTeHF e W AR A 7 g vis s A -1 F o AR
R Jed T WEar # 1SS A 38 TR Joq HEAH FFET g

8.25
6.5
3.87

2.87

b —

Options :

1908896441. 1
1908896442. 2
1908896443. 3
1908896444. 4

Question Number : 137 Question Id : 1908891628 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
Let
p: 57 1s an odd prime number.
q: 5 1s a divisor of 20.
r: 20 1s the LCM of 4 and 5.

be three simple logical statements.

Which one of the following 1s true?

PV(~qAT)
“~pV(gAT)
. (pAg)Vr
. {(pvg)A-r

e

Options:

1908896445. 1
1908896446. 2
1908896447. 3

1908896448. 4
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Question Number : 137 Question Id : 1908891628 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
A aii=T 5

p:57 T &EH ¥ATST HEAT £
q:20 FT 5 TH AT+ g. 3R

r:20 HEATHT 4 HIT ST LCM g

IS difeheh AT ]

FeRa 7 ¥ FlF-ar Fa9 T £ 2

pv(~qAT)
~pV(gAT)
. (pAgQV-r
. (pvg@Ar

B N R

Options:

1908896445, 1
1908896446. 2
1908896447. 3

1908896448. 4

Question Number : 138 Question Id : 1908891629 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

1| -2

=2 i

The set of real values of x satisfying | [~

[ S

b

Options :
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1908896449. 1
1908896450. 2
1908896451. 3

1908896452. 4

Question Number : 138 Question Id : 1908891629 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

[lx=11 =2 <2 g7 Fgee et a9 x % AEATAF AW FT AT §

1. [-2.6]
2. I-3;5]
3. [0, 4]
4. [-4.4]
Options :

1908896449. 1
1908896450. 2
1908896451. 3
1908896452. 4

Question Number : 139 Question Id : 1908891630 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The angle of projection which gives a range of 8 km when projected with a velocity of 400 m/s 1s

-‘.
(use g=10m/s")

:|E| =

b s | Sam |
w|

Options:
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1908896453. 1
1908896454. 2
1908896455. 3

1908896456. 4

Question Number : 139 Question Id : 1908891630 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

¢ JETUT FIT S 400msF 3T F TG TE W 8k FT TR (W) TeIF Fel
¢, @ (=10m <7 37 Ao ¢

m/12
n/6
/4
2nf3

e s s —

Options:

1908896453. 1
1908896454 2
1908896455. 3

1908896456. 4

Question Number : 140 Question Id : 1908891631 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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When two equal forces are mnclined at an angle of 2o. their resultant 1s twice as great as when

they act at an angle 2f.

cosm

cosf

The ratio 15 equal to

L)
- [ SS T I  R ]
|"' e |

]

Options:

1908896457. 1
1908896458. 2
1908896459. 3
1908896460. 4

Question Number : 140 Question Id

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

: 1908891631 Question Type : MCQ Option Shuffling : No

9 & I T 20F FIT T IF & ¢. 79 3 TNOTHT T 3 G q97 @i

cosl

¢ f30e 5 3 FT2p W FE T §1 FIT

2
{3

1
113

b —

bl

Options:

1908896457. 1
1908896458. 2
1908896459. 3
1908896460. 4

Question Number : 141 Question Id

cosp

T ¢

: 1908891632 Question Type : MCQ Option Shuffling : No

Page - 164


https://link.testbook.com/bQQ2EkH1bpb
https://link.testbook.com/bQQ2EkH1bpb

N P> Google Play

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two statements, one 1s labelled as Assertion A and the other 15 labelled as
Reason R

Assertion A: If o and P are two distinct solutions of the equation 3€0sX +bsinx =c

atf
tan (—) "
then 2 / 15 independent of c.

. - . 1 . . e [ - = &A= =
Reason R: Solution of 8€0sX +bsinX = ¢ i pogsible if ~V&" +b* S c=va“+b

In light of the above statements, choose the most appropriate answer from the options given
below

Both A and R are correct and R 1s the correct explanation of A
Both A and R are correct but R 15 NOT the correct explanation of A
A 15 correct but R 15 not correct

A is not correct but R 1s correct

|

e e

Options:

1908896461. 1
1908896462. 2
1908896463. 3
1908896464. 4

Question Number : 141 Question Id : 1908891632 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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A9 & 9 T A0 0 F ARFE (4) HR W H T (R) FT &

atp

FEIFUA (A): TR o HT P THIT 2 cosx+h sinx=c. F 2 = T ?.HTHH( )EF[
A ¥ &aT E]HT gl

GLY (R) : a cosx+b sinx=c FI g HoF £ I —Va“ tb sc=va +b° ¢

IHF FUA F el A fiea fGwedt # ¥ W 5ol I

—_

() AR (R E e € AR (R, (A) Fr T I E
(AR R) T TE E T (R). (A) T TET AT T
(AT E g R T A E
. (A) W T § W] (R)FR £

Options:

o LrS] [ ]

1908896461. 1
1908896462. 2
1908896463. 3

1908896464. 4

Question Number : 142 Question Id : 1908891633 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Given below are two statements. one is labelled as Assertion A and the other 1s labelled as
Reason R

/. 1b

g §
2T T E T s -1

Assertion A: The sum of the first n terms of the series 2

nin+l)
. Ln=
Reason R: 1 +2+3+.+n= 2

In light of the above statements. choose the most appropriate answer from the options given
below

. Both A and R are correct and R is the correct explanation of A

. Both A and R are correct but R 1s NOT the correct explanation of A
. A 15 correct but R 15 not correct

. A is not correct but R s correct

e s s —

Options:

1908896465. 1
1908896466. 2
1908896467. 3
1908896468. 4

Question Number : 142 Question Id : 1908891633 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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1. 3.7 15
HFET (&) 8ofe i Te T e T F wuw e T I 2%n-1 7

__ nin+1]
o (R): 14243+ 4n=20="7 ¥

I FYA F HAF F AwARd AFedt # ¥ WE Sea) I

. (A) 3R (R) @A TE E AT (R). (A) FF TE TR
(A) R (R) I TN § T (R). (A) T TeT TGN 4T 2
. (A)TE § =g (R) FEr @ £

. (A) TEr 7§ e (R) T A

o L% [ —

Options :

1908896465. 1
1908896466. 2
1908896467. 3
1908896468. 4

Question Number : 143 Question Id : 1908891634 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Given below are two statements, one 1s labelled as Assertion A and the other 1s labelled as
Reason R

Assertion A: If PQ is the chord of the parabola y =x* - 2x + 3 passing through (1. = ). and a

7
circle 1s deseribed on PQ as diameter. then the circle touches the line y= 7

Reason R: If a circle is described on a focal chord of a parabola as diameter, then it touches the
directrix.

In light of the above statements, choose the most appropriate answer from the options given
below

. Both A and R are correct and R 1s the correct explanation of A

. Both A and R are correct but R 1s NOT the correct explanation of A
. A is correct but R is not correct

. A is not correct but R 15 correct

| S

e i

Options:

19088964609. 1
1908896470. 2
1908896471. 3

1908896472. 4

Question Number : 143 Question Id : 1908891634 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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A o FuA U 0§ 0F F AE (A) H W F T (R) Fa T g

HiIFUT (4): 7 pQ g ug)?rfﬂwaﬂﬁaﬁ AT y=x-2+3 T T offaT &, Fo PQ

7
aﬁwmﬂmwwaﬁmamr%ﬁaaqﬁrw}czﬁmimﬁl

7% (R): 3¢ el Waerw i AfF a1 # W 7F W F god Yrar A0 A
g Ted forgar 1 9 F3 ¢

ST FUAT & el # i fawodt # § T Feel o

(A) AR (R) 2T T E HR (R). (A)F T e g

(4) AR (R) et TN § W] (R). (A) T TET <o a7gk |
(A)WET § g (R) /T 71 £

(A) e 7 € g (R)Fel &

o L] [ ] —_

Options :

1908896469. 1
1908896470. 2
1908896471.3
1908896472. 4

Question Number : 144 Question Id : 1908891635 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Match List I with List IT

ListI List IT
A.
= IRf=|:'|:' ’L]
f(x) = e
i 1+ x2
B.
1L Ry =[0. 1)
f(x) = :
3 1-—x2
e
1. Rs =[0. 1]
f(x) = Vx> —3x+2
D.
IV.Rs= (-c0, 0) U [1. )
f(x) =1—-x2

Choose the correct answer from the options given below:

1. A-IILB-LC-IV,D-1III
2. A-IB-IV.C-1L.D-III
3. A-IILLB-II.C-IV.D-1
4 A-LB-IILC-IV,.D-III

Options:

1908896473. 1
1908896474. 2
1908896475. 3

1908896476. 4

Question Number : 144 Question Id : 1908891635 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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N P> Google Play

T - o 1
. x2
X) = - LRs=[0. )
A.ﬁx'} T2 £={0, o)
f X = = . = ]
o f0 =1 ILR:=[0, 1)
cHKx) =+x¢—3x+2 LRs=[0. 1]

IV.

D f(x) =v1—-x* Rs=(-w0. 0)U[1. =)

arr (T 71T feeat # & ®Er 3o} AT

A-IILB-LC-IV.D-1III
A-II.B-IV.C-1.D-1II
A-TMMI.B-II.C-IV.D-1I
A-LB-IILC-IV.D-1III

[ S

L

Options:

1908896473. 1
1908896474. 2
1908896475. 3

1908896476. 4

Question Number : 145 Question Id : 1908891636 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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N P> Google Play

Match List I with List IT

List I [List II

A.

- T
1 1.4

j5+ 4 cosx 5

(i)

B.

A T

sin 2x m 2

, X
cos*x+ sin*x

.
= m
EI:.'I'J-E.'G III. E

j efﬂS:{ + e—fﬂﬁ){ dx

0
D.

- - V. ™
fo2

1+sinx
3]

Choose the correct answer from the options given below:
1. A-ILB-LC-IV.D-III

A-IV.B-LC-IILD-III

A-TMMB-1L.C-II.D-IV

A-ILB-IV.C-IILD -1

[ ]

il

Options :

1908896477. 1
1908896478. 2
1908896479. 3

1908896480. 4

Question Number : 145 Question Id : 1908891636 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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N P> Google Play

T I FIEET - § gAfed #ifsw

'\:E,ﬁ' - -\qsn- 11
—_—dx e
f5+4c05x 5 L%/%
J’ sin 2x ds /2
b
cos*x+ sin*x : IL
T
EI’.—'IJS-‘C

f EC‘;‘S?‘C + E_COBT{ d}: III-n"IIrS
C.o

m™

f 1+ s:rn IV
D.o

A fGw arv fawedt & @ wér 3eaw e

A-II.LB-LC-IV.D-III
A-IV.B-LC-II.D-III
A-IMII.B-LC-II.D-1IV
A-II.B-IV.C-III.D-1

b =

o

Options :

1908896477. 1
1908896478. 2
1908896479. 3

1908896480. 4

Question Number : 146 Question Id : 1908891637 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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N P> Google Play

Match List I with List IT

List I List IT
A

 cosecix— 2 12
lim

== cotx—1

Pod | Ll

I11.

13423433+ .. 418
lim

n—ze n*

Choose the correct answer from the options given below:

1. A-LB-IMIILC-IV.D-1I
A-LB-IV.C-III.D-II

[ ]

3. A-IILB-III.LC-L.D-1IV
4. A-IV.B-III.C-1.D-II
Options:

1908896481. 1
1908896482. 2
1908896483. 3
1908896484. 4

Question Number : 146 Question Id : 1908891637 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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N P> Google Play

CUE T -1
 cosec’x— 2 |
1 ——— | .
i x_L: cotx—1
g 1 —sin®x
4 x1_1.1‘_} = II. 1/4
e*+e =2
o lil‘%—,, III. 3/2
e -
134224+ 33 4t n? ,
lim i v.1
. n—es n

= JT 1T RFeeat # & ®Er e} gfav

1. A-LB-III.C-IV.D-1II
2. A-LB-IV,C-III,D-1II
3. A-II.B-IIILC-1.D-1IV
4, A-IV.B-III.C-1.D-1II

Options:

1908896481. 1

1908896482. 2

1908896483. 3

1908896484. 4

Question Number : 147 Question Id : 1908891638 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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N P> Google Play

For any two sets of A, B and C. which of the following are true?
A.(ANB)U(A-B)=A

B. A-(BNC)=(A-B) N (A-C)

C.(AUB)-C=(A-C)U (B-O)

D.AN(AUB)=0

Choose the correct answer from the options given below:

1. AandD only
2. A .CandDonly
3. A.BandD only
4. C and D only

Options:

1908896485. 1
1908896486. 2
1908896487. 3
1908896488. 4

Question Number : 147 Question Id : 1908891638 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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N P> Google Play

fregr diet FH==at A.B AR ¢ fov. famfof@a # @ a9 w7 € °

A. (ANB)U(A-B)=A

B. A-(BNC)=(A-B)N(A-C)

C. (AUB)-C=(A-C)U(B-C)

D. AN(AUB)=0

e feT v faedt # ¥ §EY Fea? I ¢
1. g AAR D

. FEA A CHRD

. HFTABIHR D
4. &g CHRD

[ ]

L ¥ ]

Options:

1908896485. 1
1908896486. 2
1908896487. 3

1908896488. 4

Question Number : 148 Question Id : 1908891639 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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GETITON
. » Google Play
For any two vectors @ and b . which of the following statements is/are FALSE?
AIf lal =3 and -1 <A < 2. then |2l lies in the mterval [-3, 6]
g [a+b] =l +[o[e@dL b
c RAxilP+RxjlP+[Axk| =2[E?
- . -+ —* " T - =3 N .
D. If the angle between two unit vectors d and b 1s e then V3 d — b is also a unit vector

Choose the correct answer from the options given below:

1. Bonly

2. BandD only

. Aand B only
A, Band D only

:I:-\.(_.u

Options:

1908896489. 1
1908896490. 2
1908896491. 3
1908896492. 4

Question Number : 148 Question Id : 1908891639 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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N P> Google Play

frgr @y gfeat @ b .5 PeAERRT s s AT s mm £ 0
A Al =3 3.1 <i <2 ar el sawrer [-3, 6) F foua ¥

B [i+b]=[al +[b] 23 L by

¢, Bxil? + Bxjl+ Ax k[ =213 ¢

D. I gt Ao wieet d 3 b F I FFU/EE T Vii-b ff F AEE
Tfer e 2

AR R T Rt & @ WA 3R

1. 37 B

). #9a BAT D

. *had AHR B
. %ad A BAT D

s

Options:

1908896489. 1
1908896490. 2
1908896491. 3
1908896492. 4

Question Number : 149 Question Id : 1908891640 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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GETIT ON
. » Google Play
Which of the following are TRUE statements?

A. The vector represented by the complex number 2 — i is rotated about the origin through an angle

4
Ein the clockwise direction. Then, the new position of the pointis =1 — 2i,

- 147 | . 3
. =] arg N
[—p2- then arg(z) 1s 7
: 1+a 0@
C.It a=cosh +isinﬂ,thenf=1tan;

D. There exists no value of x for which sinx +icos2x and cosx — isin 2x are conjugate to each
other

Choose the correct answer from the options given below:

Band D only

. A .Band D only
A and D only

. Bonly

e o B

Options:

1908896493. 1
1908896494, 2
1908896495. 3

1908896496. 4

Question Number : 149 Question Id : 1908891640 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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N P> Google Play

T # e FRt Fm a ¢

A TRy WEw 2 g3 R afey # ARG & oft g for & n2%
IV T GAT S §| 9. 39 fag H A5 et -1.2i e gl

1+7i

B 2=1

T
g :Hﬁ'arg(z] = 3ﬁ'|

1+ B
C. gfg a=rcosh +isi118§‘_a’fsz= itan=g|

D.x¥ ¥ ot 7 7 3 H‘Eﬂ' ﬁ'ﬁ;ﬂﬁ; forTsinx + icos2x 3y cosx ~ isin 2x T
T F W A
A fov e Rt o & W IR T

l. ¥9 BHR D
2. Fd ABHTD
3. %I AFRD
4 FIAB

Options:

1908896493. 1
1908896494, 2
1908896495. 3

1908896496. 4

Question Number : 150 Question Id : 1908891641 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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N P> Google Play

i i - W
f(x) = sin*x + cos*x; 0 sx = -

Given . Whach of the given statements are TRUE?

1
A Local minimum value of f(%) is 2.

B. () is increasing on [Z'ﬂ
c JI'C.“"': fi(x)dx = 1

T
D. Period of f(¥) is 4

Choose the correet answer from the options given below:

A and B only
A and D only
B and D only
A Band D only

B

Options :

1908896497. 1
1908896498. 2
1908896499. 3
1908896500. 4

Question Number : 150 Question Id : 1908891641 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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N P> Google Play

f(x) = sin*x +cos*x;0=x = %ﬁtﬂ E-Hr ?;-'»'I = ﬁ'ﬂ' ?FT?-I'-# FUT T g— 9

1
A f(x) T TIT FFaaw AT 2 &

B. E-ﬂq'rf(x}az&nm gl

CvEHPme=lm

D. f(x) FT HET 4
A foT 7T oo # F TEr 3} g4 ¢

1. %ad AT B
%adl AHT D
3. Fad BHR D
4 FIT ABHR D

| R

Options :

1908896497. 1
1908896498. 2
1908896499. 3

1908896500. 4
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